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Question Id : 3421234829 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table shows the percentage (%) distribution of population in five different age
groups for five different cities A-E. Based on the data in the table. answer the questions that
tollows.

City-wise Details of Population

Percentage Distribution of Population in Age Groups of
O=Age=13|13=Age=19 | 19<Age=35 | 35=Age=60| Age=60
A 18% 12% 24% 30% 16%
B 16% 18% 22% 29% 15%
C 20% 20% 20% 25% 15%
D 15% 18% 21% 26% 20%
E 18% 15% 25% 24% 18%

Note: a<Age=b means Age belonging to group (a.b]
Sub questions

Question Number : 1 Question Id : 3421234830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the number of people in city-A belonging to the age group of (19-35] years is 31680, then how
many people are there in the age group of more than 60 years?

1.21120

2

. 24280
3. 23680

4. 19350

Question Number : 2 Question Id : 3421234831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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If the population of City-E in the age group of (0,13) vears is 16200, then the population in the
age group of (0,13) years of City-E is % of population in the age group of (13,19] vears of
City-E.

1. 60

ta
=]
h

4. 120

Question Number : 3 Question Id : 3421234832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the population of City-C and City-D in the age group of more than 60 vears is equal to 24000
each, then what is the sum of the total population of City-C and City-D?

1. 2.4 lakh

(]

. 2.8 lakh
3. 3.2 lakh

4. 4.8 lakh

Question Number : 4 Question Id : 3421234833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

It the population of City-A and City-B in the age group of (19.35] years are 17280 and 21120,
respectively, then what is the ratio of the total population of City-A to that of City-B?

L7223

I

.34

Question Number : 5 Question Id : 3421234834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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It the total population of City-B and City-E are 96000 and 130000, respectively, then the
population of City-E in the age group of (0,13] years is approximately % more than the
population of City-B in the same age group.

1.47.24

[

. 49.67

Tad
h
[
Tad
=Y

+
L
=
h

Question Id : 3421234829 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

frafafad arfdeT O uid i e A U E & felU gid {953 3gam &1 SHawe & Uidwrd( )
fqaRUT D G211 741 g | difcids] # fAU U 3fidhs! & SMUR U, Ul & IR Sifog|

STTEREAT B1 WER-dR fdR0T

9 gt o S faavu &1 ufawa
0=3Mg=13 | 13=HTG=19 | 19=3HG=35 | 35<HT=60 [ HTT=60
A 18% 12%s 24% 30% 16%
B 16% 18% 22% 29% 15%
C 20% 20% 20% 23% 15%
D| 15% 18% 21% 26% 20%
E| 18% 15% 25% 24% 18%

fequof. a=3Hg <b P mf%a?f (a.b] & Afgaal & 3.

Sub questions

Question Number : 1 Question Id : 3421234830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e WE-AH 3 a1 (19-35] I8 & Hfadal Bl G=AT 31680 ¢, Al dgi W v Hfdkd 60 a8 U
3 g & g2

1.21120

I

. 24280
3. 23680
4. 19350

Question Number : 2 Question Id : 3421234831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ WY -E 1 (0.13] T o 311G 1 DI SIHEAT 16200 8 I, SR -E T (0-13) T4 G T Bl
ST RER E H (13-19) AU & AT T DI GTHIATHT % 8-

1. 60

B
=]
A

4. 120

Question Number : 3 Question Id : 3421234832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gie 60 a9 T it 1Y 97 T g ¢ AR e D DI SHEA], YD T 24000 8, A UG €
3R 2ER D DI Dl TGS DI TN R g2

1.2.4 cld

I

2.8 ¢ld
3.3.2 ¢4

4.4.8 ¢ld

Question Number : 4 Question Id : 3421234833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fe WX A 3R UG B Bl 3R I (19-35] T4 P SHIEAT HHT: 17280 3R 21120 §. I AR
A S SR BT WG B DI g1 H T UM g2

L:i2:3

I

.34
3.4:5
4.5:6

Question Number : 5 Question Id : 3421234834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ MY B 3R SR E DI Hol -G HHTT: 96000 R 130000 8. o U E H 3 T (0-

13] 9N B ST, THMH HGdH B G B DI STAERAT G T oo % (U B-

1. 47.24
2. 49.67
3.52.34
i e

Sub-Section Number : 2

Sub-Section Id : 342123196

Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421234835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following teaching techniques do not represent modern and ICT based teaching
method.

A. Recitation and Memorization
B. Flipped Classroom

C. Mind maps

D. Chalk and Talk Method

E. Gamification

Choose the meost appropriate answer from the options given below:

1. B and C Only

b2

.C and D Only
3. Aand D Only

4. D and E Only

Question Number : 6 Question Id : 3421234835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁﬁﬁ?ﬂﬁﬁﬁﬁ?ﬁﬁﬂ@ﬁﬁ%%ﬁ?&ﬂé 1. 21 ameTRd e &1 uaiRid g
Bl g2

A, TR UIS 3R $oR Al
B. [halts e
C. 7138 HY/ HFY HHEREAU
D. 9l US Tldh Ugid
E. THIMh I / Welldhul
A feu T fawedl § 9 o IR B 99 DIIT;
. HadB AR C
2. HAd C AR D
3. HAd A ARD

4. HadD AR E

Question Number : 7 Question Id : 3421234836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Concept Description

L A unit by which the course work 1s measured. It defines the number of hours

A | Academic vear | L 2 2 :
= of instruction required per week
8 | Credit Pomt I Papers taught under the programme duly defining the learning objectives and
outcomes

C. | Credit III. | Two consecutive (one odd and one even) semesters
D. |Course IV. | The product of grade point and number of credits for a course

Choose the correct answer from the options given below:

1. A-IIT, B-1I, C-IV, D-1

t-2

. A-IV, B-1, C-III, D-II

3. A-III, B-1V, C-1, D-II

4. A-1I, B-1II. C-1IV, D-1

Question Number : 7 Question Id : 3421234836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y AT 11 D1 I Pifore

A |defreas | 1 | EPTE ST U ST SIS 8 1 $9H 0 e & o
HIGRg @ &l G- & Uel o uRHId forar ol &
B |pRedee | n W%ﬁ;ﬁmﬁ%ﬁu@éaﬁaﬁﬁwaﬂmaﬁmﬁwﬁmﬁﬁ
Hfse 1T | &1 AN (U [9uH 3R U 99) G- aiid Jeama
D. |uda®mn IV. | UTeumH & faU U8 tis= 3R Hige @& &1 Hwd

A faU U faded] § U It 3R &1 99 HIoIu:

1. A-IIIL, B-1I, C-IV, D-1

[

. A-IV, B-1, C-III, D-II

3. A-IIL, B-1V, C-1, D-II

4. A-II, B-TII, C-IV, D-1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Question Number : 8 Question Id : 3421234837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What among the following cannot be treated as the role of a teacher?

A. To be strict and fair but not harsh

B. Openly criticize colleagues in public, especially in front of students
C. Hard working
D. Motivates students and encourages them

E. Reports theories and content but avoids explanation

Choose the most appropriate answer from the options given below:

1. Aand B Only

2. A, CandD Only

3.B, C and D Only

4. C.D and E Only

Question Number : 8 Question Id : 3421234837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad o O f6-d! g & YiteT & 3 o 981 A1 & Uddl 62

A. T 3R ¢ i Hh2 ol

B. UedhHdl &1 vl |, [9=19 U I f=nfial o THe 1< &l
c. Hegad!

D. faental & URd 3R Uidifgd &3 dra

E. (STl 3R f[audasd &1 9did ¢ i I9P] e H3- d §dd g
A fau U fadedl § U ¥8T 3R &1 994 DI

1.$dd A3RB
. Had A, C 3R D
3. $Hdd B, C 3R D

4.$HadC. D3R E

]

Question Number : 9 Question Id : 3421234838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI

Jackson's learning style

LISTII
Description

Responsible, rational learners, endowed with an urge to explore the

Achiever

A |High sensation seeker | L B :
= > world so that positive goals can be achieved
: Learns from their mistakes, possess a scientific, detached and

Goal oriented . . S ;

B i II. |autonomous learning stvle, processes information in an emotionally
intelligent-manner

Emotionally : ; ; ctesipy
C. : i III. | Gets involved in new challenging activities

Intelligent Achiever =
D Conscientious v One who sets learning goal which are generally hard and specific and

has confidence to achieve the goals.

Choose the correct answer from the options given below:

1

2

. A-II, B-III, C-1, D-IV
. A-IIL B-1V, C-11, D-1
. A-IV, B-1, C-1II, D-II

. A-I, B-1II, C-IV, D-II

Question Number : 9 Question Id : 3421234838 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifoy

g28.digialm.com/CAE/viewHtmIPDFAction.action

I I
w iR fags! fRremlf i ovg &1 @ie 39uv @ 98 8id1 6,
A |SE PRI | L | ora e da e for T 9|
AUt Tafaat @ died &, 399 ae dewy 3R o Sifie
B %ﬂ%@mmﬂ 1 %ﬁwﬁaﬁﬁwmnﬂwﬁéﬁfﬁgﬁiﬂaaﬁ%ﬂm
!
C Wﬁwfﬂm I11. | U gHidgef saar & gfffed g gl
5 . |58 =t vE aiftre g ffE| & 51 o 9. $ie- Sk Ry
D. | eI Sucliedd V- | S ¥ o oad 3 qiedl o i B A T FaTa el 2|
= fqu U fadeal § O 9gt 3R &1 99 DT

|

B

. A-IL, B-IIL C-I, D-IV

- A-IIL B-1V, C-I1, D-1

. A-IV, B-1, C-III, D-II

. A-I, B-1II, C-IV, D-II

Question Number : 10 Question Id : 3421234839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

11/146



8/24/24,12:27 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Which of the following are correct in the context of Artificial Intelligence as one of the
innovations in evolution system?

. It is a software system used for automated scoring

. “AI" technique is applied to learn how an instructor grades a problem/response

. It is the final authority about the student's performance

. The instructor evaluates a sample set of students responses and *Al’ system creates a
computer model incorporating rules inferred

E. Presently, most of the higher educational institutions in the country employ *Al” based

evaluation system.

Onm e

Choose the most appropriate answer from the options given below:

1. Aand B Only
2. A.Band C Only
3.C,D and E Only

4. A, B and D Only

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 12/146
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Question Number : 10 Question Id : 3421234839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el § U & ¥ fdbed Gelih--Uulel § U HaM6R & $U § iEhIR™d Sedlol-g
(PIEH i) & HeH H Tel ©-

A. U R GG (W1 & [T ITarT fdhdr S arel T HiiedaR gl
B. “U. 3115 UG &1 SN I S o forg faba ST g fob i Uiiero iy YR fabit
TY/ 3feha1 DI Yuiidhd Sl g
c. 3 faendf & ue=iH & aR ¥ (Huigs gam gl
D. W& faendf o ufdichar & ufdexl/ 9rdd Ue &1 Jedidhd HRdl g 3R T, {1 Yol
ST Al &1 gurafRid b de disd [Hid $d S|
E.%@ﬁ,ﬁﬁﬁ%@ﬁﬁ?ﬁf&ﬂ@@ﬁ"ﬂ 31 MUTRA Yot Wommel Wi
|

- feu e faseut # ¥ @7 IR &1 99 DI
1.Hdd A 3R B
2. HIAA, B3R C
3.$dd C, D 3ARE
4. HdAA, B3R D

Question Number : 11 Question Id : 3421234840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The process of telling research participants of any deception or ruses used in a study, is known as

1. Active deception

t-2

. Passive deception

3. Dehoaxing

=

. Desensitization

Question Number : 11 Question Id : 3421234840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AFYYH P HITERT B g H IUaNT ST 15 fH8! YA 34d 90 & IR H §dMH &
UfehaT el &-

L. O Yl
2. ST YA
3. SIgIaET

4. 3FHACIHRT

Question Number : 12 Question Id : 3421234841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In qualitative research, which of the following criteria is concerned with the question do
the findings apply to other contexts?

1. Transferability

f2

. Credibility

4

. Internal validity

4. Confirmability

Question Number : 12 Question Id : 3421234841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

D S H (afRad & 9 & 91 ards Uy 1 RO 3= HeHi & e
AR gld B, ¥ Hdfd 8o

1. 3fRuliadr
2. [aY e
3. 3R eyl
4. IR

Question Number : 13 Question Id : 3421234842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the datasets with following pairs of mean( ) and standard deviation (o) in increasing
order of their coefficient of variation.

14

Il
Il

2-8
1-5
2-1

Cnwp

= = = =
]

"-" q Cl q
]

9,
12
8,

Il

=1.2

Choose the meost appropriate answer from the options given below:

b BC D
i 0 £ Wl .
3.0, B, A

46, DA B

Question Number : 13 Question Id : 3421234842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

H1¢ (%) 3R AFS fade (o) & FEfeiad Siisl drel Sierdd & 3 fd=ror quid &
3RIS! ¥ H afRyd BT

.x =14,
X =9
x=12,
X =8

]
»

el 3R 1 94 DHIfIU:

3.D,B,C,A

4.C,D.A.B

Question Number : 14 Question Id : 3421234843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC regulations 2018 on plagiarism a faculty will be denied two successive annual
increments for which of the following similarities in research publications?

MmO 0w
=]
2
=]

52%
Choose the meost appropriate answer from the options given below:
1. A. B and E Only
2. B, C and D Only
3. A.B,Dand E Only

4. C and D Only

Question Number : 14 Question Id : 3421234843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yifgfde® IRT (WiERE) 1R g, S 9 a0 2018 & 2F9R, Y YbE §
frafeiRagd o 9 fod- gaMHdsi & fau fhdl S6rg 9ad oI &l Hife aitie da- gfadl
dfad foar Smemme

.42%
. 38%
. 76%

]

monNnwp 4

A fau U fasmedl § 9 ¥8T 3R 31 994 DI
. Hdd A, B3R E

. $HadB,C 3R D
3. HAAA.B.D3IR E
4. PadC AR D

f-2

Question Number : 15 Question Id : 3421234844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Type of variable Example
A | Nominal I. |Happiness level
B. | Ordinal II. |Height
C. |Interval III. |Blood group
D. |Ratio IV. | Year of birth

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

I

. A-II, B-1II. C-IV, D-1

3. A-III, B-1, C-1V, D-I1

4. A-IV, B-111, C-1, D-II

Question Number : 15 Question Id : 3421234844 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e Hifsy

1 g

T HIUPN Jale
A |sifea L Qe ®R
B. |HHYd® I (&= @

C. | 3R ndlkatrn
D. | U IV. |S @1 ay

A fGu U 9 edl § U Iot IR BT I999 BIIT;

1. A-I, B-II, C-III, D-IV

(B

. A-II, B-III, C-IV, D-I

3. A-III, B-1, C-1V, D-I1

4. A-IV, B-111, C-1, D-II

Question Number : 16 Question Id : 3421234845 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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First printing press in India was established at:

1. Goa

t2

. Kerala
3. Tamil Nadu

4. Bengal

Question Number : 16 Question Id : 3421234845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URd H ugdl Tl Uey Euerd &1 1941 gs A
BRI

A H

ISR

4. SA H

f-2

L

Question Number : 17 Question Id : 3421234846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The main purpose of establishing Television in India at the initial stage was:
1. News
2. Entertainment
3. Education and awareness among the rural population

4. Scientific development

Question Number : 17 Question Id : 3421234846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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R TR H HRA H gRGRA &I RITTHT ST I3 Ya1e UT-
1. GAER

HARSH

3. JTHIOT SRS H fRI&7T 3R S

4. AT fabr

f-2

Question Number : 18 Question Id : 3421234847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the sequence the 5 Cs (Elements) of communication

A. Compassionate
B. Curious
C. Compelling
D. Concise
E. Clear
Choose the most appropriate answer from the options given below:
1.A,B,C.,Dand E
2.B,A.C,D,and E
3.)EED.C.Band A
4.D,E.C,Aand B

Question Number : 18 Question Id : 3421234847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YUY & 5 Ul (Fohl) BT U1 3hH H AR DifeU

A. HUTFT (STTd)
B. FRIY (SRIN)
C. hUleHT (FIDRY)
D. ©d13Y (Hgd)

E. fael@R (W)

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.A,B.C.D.E

2B, A,CD E
S EDC B, A

4 D.E.C.A.B
Question Number : 19 Question Id : 3421234848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Basic factors of listening are:

A, Self interest

B. Speaker

C. Facts

D. Style of speaking
E. Atmosphere

Choose the meost appropriate answer from the options given below:

I.A. BandD Only

B

. A, Cand E Only
3.B. C and E Only

4. B. D and E Only

Question Number : 19 Question Id : 3421234848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A, 3T TSl

B. 9l

C.dw

D. dIp-2cil

E. URGRI/ SIdTaRl

i feu T fahedl § 9 a1 IR B 99 DIIT;
1.$Hdd A, B3RD

2. had A, C 3R E
3. Had B. C AR E
4. HAd B, D 3R E

Question Number : 20 Question Id : 3421234849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTI
Mass media Example
A |FM I. | The Trbune
B. |Newspaper II. |Rediff com
C. | TV Channel ITI. | Radie Mirchee
D. |Internet IV. |CNBC

Choose the correct answer from the options given below:

1. A-II1, B-11, C-1, D-IV
2. A-IIL, B-1, C-IV, D-II
3. A1 B-II, C-IV, D-IIT

4. A-11, B-1, C-III, D-IV

Question Number : 20 Question Id : 3421234849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

kS Sie
FTHER IGTEI00
Uh UH I |&fesgd

HHEN U . |3fE% BIF Rediff com
A dga | |[Yfefef

ELET IV. |9t o st i
Ard U U f[dahedl § 4 To1 SR BT 999 DIl

1. A-IIIL, B-IL, C-1, D-IV

olo|w|»

2. A-III, B-1, C-1V, D-II
3. A1, B-II, C1IV, D-IIT

4. A-IIL, B-1, C-III, D-IV

Question Number : 21 Question Id : 3421234850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The cost price of two articles is same, one of them is sold at a profit of 13% while the other one is
sold at a profit of 19%. If the difference between their selling price is Rs. 126, the cost of price of
each article is

1. Rs.1800
2. Rs.1900
3. Rs. 2000

4. Rs. 2100

Question Number : 21 Question Id : 3421234850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sl el & ANd qed G S | STH Y UD Dl 13 % & A Y Sdih GO Bl 19% H dH
ST SIIAT §1 4 3 fafhd Hea & S 3. 126 &1 2R &, d1 Ud® 9% &1 AT Hed -

1.%.1800

2.%.1900
3.°%. 2000
4.%.2100

Question Number : 22 Question Id : 3421234851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A ship is approaching towards a shore, when it is 32 miles from the shore, a plane having speed
15 times that of the ship is sent to deliver supplies. How far from sea shore does the sea plane
catches up with the ship?

1. 30 miles

I~

. 25 miles
3. 15 miles

4. 10 miles

Question Number : 22 Question Id : 3421234851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uch ST dc di 3R d¢ 381 ¢ | 9id 98 YHgdc U 32 Hid g2 ¢ o U 9y forgant 7ifd
ST ¥ 15 THT 31D . B el & faaRor & fag 31 S 81 §gde ¥ fbadl gl W

A g, S db Ugd Sei?
1.30 did

25 Hid
3. 15 Hid
4. 10 Hidl

[

Question Number : 23 Question Id : 3421234852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following fractions in increasing order-

Choose the most appropriate answer from the options given below:

.A,B,C,D
2.A,D,B,C
3. D,AB;C

4.B,D,C, A

Question Number : 23 Question Id : 3421234852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad fial o SRigl H H orafed Sifsr-

KoL

11

11
B
c 2

13
p BB

21

1 fGU U fasedl # U g3l & 994 DIl

1.LAB.C.D
2A.D.B.C
3.D.A.B.C
4 B.D. C, A
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Question Number : 24 Question Id : 3421234853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the numbers that occur in the given series:- 0.3,10.21.36.......

Mo nwp
i e~ e B |
W O ND GO Lh
o L

Choose the most appropriate answer from the options given below:

1. A, B, Cand D Only

]

. B, C and E Only
3.C, D, E and A Only

4.D.E, A and B Only

Question Number : 24 Question Id : 3421234853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 T3l ol Ugd Hifeld §if &1 715 90f1 0,3.10,21,36,..... H 3mufi-

Lh
A

.78
.99
.. 105
. 136

-4 feu U fasetl # 9 @1 SR &1 99 ST
1.®dd A, B, C 3R D

HdAB.C3AR E

3.$HddC, D, E 3R A

4. HdAD,E. A 3R B

HUOwp

R

Question Number : 25 Question Id : 3421234854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII

Word Unique code
A |QUAKE . |QDBBI
B. |JOFTEN II. JEQIUFE
C. |PEACH 1. |[RTBIE
D. |IDRIVE IV |PEUDO

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. A-1l, B-1II, C-1V, D-1

3. A-IV, B-1, C-II, D-III

4. A-IIT1, B-1V, C-1, D-II

Question Number : 25 Question Id : 3421234854 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

il -1 6 91y Y11 31 firem sifere

LISTI LISTII
g fafere $c
A |QUAKE I |QDBBI
B.|OFTEN II. |JEQIUF
C. |PEACH III. IRTBIF
D |DRIVE IV [PEUDO
" fGu U f[9dedl # U I8t 3R &1 994 BIIU;

1. A-I, B-II, C-III, D-IV

2. A-11, B-IIT, C-1V, D-1

3. A-IV, B-1. C-II, D-III

4. A-III, B-1V, C-1, D-II

Question Number : 26 Question Id : 3421234855 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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What can be correctly claimed about the following?
“I ate because I was hungry”

1. Its an argument.

(]

. Its a Non-argument
3. Its a non-argument, it's an Explanation

4. Its a non-argument, it's an Illustration

Question Number : 26 Question Id : 3421234855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeIRad a19d & 1olu 399 T &I 1 g1a1 Yl 62
<4 YIS fdoar ifd o oy a1

1. 4 U giak/dd §

2. U UH 3gfad/3idd §

3. 4 UD 3fad/3fdd g, Ug AT §
4. UD ffay/Hdd g, ug epid @

Question Number : 27 Question Id : 3421234856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Name the fallacy committed in the following:
“All the textbooks are books intended for careful study. Some reference books are books intended
for careful study. Therefore, some reference books are textbooks”

1. Fallacy of Illicit Minor

. Fallacy of Illicit Major

B

3. Undistributed Middle

o

. Fallacy of four terms

Question Number : 27 Question Id : 3421234856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafeigd o gU US g &1 A 91

Ul UreaqRddy AHYdD I & YU H 91 Td 81 $2 YoH Txddh AMYdD

S & HYUE Y 4] Yedd ¢ 1"39eIU, & e J&dd Uléd Uk g |
 3fdY dY Ug gy

3{dY 7B Ug Iy

3. AT gd &N

4. IR UG BT AW

[a—

B

Question Number : 28 Question Id : 3421234857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the fallacy committed in the following:

EE)

“Ford cars are lemons. I have owned two and they gave me nothing but trouble™.

1. Inappropriate appeal to authority
2. False alternative
3. No fallacy

4. Hasty Generalization

Question Number : 28 Question Id : 3421234857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frafaiad &3 H gU U dd &Y &1 UgaH DI ﬁ
“TpIS ST (@R) (/g 1 R UM &1 § 3R 3614 § ed & g faar g

1. DR 9 U S ugd Sdid
2. 7ard fadhed

3. ®ls db Gy el

4. TR FHATHRT

Question Number : 29 Question Id : 3421234858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is incorrect claim in the context of Vyapti?

1. For Carvakas, it is possible to ascertain that smoke is invariably and universally attended
with fire all the time

(]

. For Buddhists. the universal relation between smoke and fire can be ascertained even
without examining all the possible cases

3. For Vedantins, Vyapti between smoke and fire is known to co-exist and at the same time it is
never known not to accompany smoke

4. For Naivayikas, it is neither easy nor necessary for the formation of a universal proposition
to ascertain any relation of causality or identity between the two phenomenon

Question Number : 29 Question Id : 3421234858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e & Yeu # FufaRad # T &H 1 ara1 7Ted 22

 ARATDh! & o8 Tg 78 HRATHHT ¢ Tob Yait 3uikgrd sk wifdEe $u 9 ¥ed =i &
1Y JURRd glal g

il & oL, YU 37R 21 & oFd 9d Gy Ty o g grae § aieo foy 94T o gar
AT ST ghdi g |

- deli=al & feu, 4u 3R 31 & o9 A1t Ugadi ¢ 3R 1Y g1 d HHil 1t fo1 (i & g4
EARERIEIEIEIGIE

a1 & forg, g Uiasifd S & fau SFf uRuere & §id SIS gdd dde a1
UgdM & [HUTRT HA1 9 df ATH 3R A9 6l ad ol

—

f2

s

4=

Question Number : 30 Question Id : 3421234859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of sentence meaning relationship which of the following refers to 'Expectancy’

1. Asatti

f-2

. Akamksa

L

. Yogyata

=

. Tatparya Jaana
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Question Number : 30 Question Id : 3421234859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- 3 ey & e H Fafaied O 9 <uayuaed (U &1 ol |18
1. 3

. ATehie

3. g

4. IO {1

]

Question Number : 31 Question Id : 3421234860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L), 4 represents a number L in base - 16 number system, then (4AC) ¢ + (9BF )=

1. (E6B)1g

| ]

(ATBF)i¢

L

. (CFC)y5

4. (D68)1¢

Question Number : 31 Question Id : 3421234860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 99-16 3P UUMTell H (L);4 SRAT L DI USRId BIAT 6. Al (4AC);4 + (9BF) =

1. (E6B)g

2. (A7BF)¢

)

3 {CHO)sg

4. (D68)1¢

Question Number : 32 Question Id : 3421234861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Microsoft PowerPoint comes with several categories of built-in transition effects. Which of the
following is not a type of transition effect supported by Microsoft PowerPoint?

. Subtle

(]

. Speed
3. Exciting

4. Dynamic Content

Question Number : 32 Question Id : 3421234861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I [HIUe UraRulg fdee- ol yyId &1 3 4ol d oird g | Fafafad § § o
I ISl U HI3eh It grauie< gRT 9aidd UeR 8l g2

1. 9cd
2. WIg

3. Ui

4. SEHAMHD B

Question Number : 33 Question Id : 3421234862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the correct order of the following computer storage capacities A-E from largest to
smallest capaity (1 K= 1024)

1000000 K Bytes
100000 M Bytes

1 T Bytes
10000000000 Bytes
100 G Bytes

mONnwp

Choose the meost appropriate answer from the options given below:

1.E,C,B,D,A
2.0, E. B, D C
3.D;C.E; B, A

4.C,E,B,D,A

Question Number : 33 Question Id : 3421234862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad SR WRE (USRI &Hd131 A-E ©f 949 3{U$ Y a4 S &HdI D Tl a H
IdfRYd PISTY(1 K= 1024)

1000000 fhcldISE (kBytes)
100000 HIT §13¢ (M Bytes)

1 é?lalﬂa (T Bytes)
10000000000 Bytes
100 G Bytes

A fGu U fadedl § 9 ¥8T 3R &1 994 DIoIU:

1.E,C,B,D, A

mon W p»

]

AE B D C

LS

D E B A

4. C,E,B,D,A

Question Number : 34 Question Id : 3421234863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In cloud computing, which of the following are the advantages of using cloud storage?

A. Data files of customers stores on the cloud can be accessed at any time from any device
anywhere in the world provided internet access is available.

B. There is no need for customers to carry an external storage device with them or use same
computer to store and retrieve information

C. If the computers have slow internet connection, then they would not face any problems
accessing or downloading their data files

D. Cloud storage is typically delivered by a cloud service provider

Choose the meost appropriate answer from the options given below:

1. A. Band C Only

t2

. A, B and D Only
3. Aand C Only

4. B and C Only

Question Number : 34 Question Id : 3421234863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Fellgs DT H Flds TRl & HEfaRad & o 9 a1y 82

A. T3S IR HSIRT Y| Bl STel- BISal ddb 5e-e bl Iudsdl giH IR fay R d dal
R i, Tl ot oy o off fSars g 9§ ugn ol 9adi 2 |

B. SHGRI &l HSTRA SR U: U $H- b [¢1U rgah| DI fhdl argl <R [Sargq rdl
J HR BT FTAN D B ARGl Tei gldl ¢ |

C. TS ATGD! BT ST HaRM H gl dl ITD1 (U1 SeThlgdl db Ugd U1 SISl

¥ H fbdl UL BT AT 981 HAT US|
D. T3S LR Bl USiUd U U Fell3s Hal Ualdl gRI UeH fbdl Sl |
e feu T 9l 7 9 FT SR D1 99 BIfST:
I.Hdd A, B 3R C
2. HdAA, B AR D
3. Hdd AR C

4. HAAB 3R C

Question Number : 35 Question Id : 3421234864 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI

Digital India Theme

LISTII
Purpose

Subscription-based scholarly information (e-books and e-journals) at lower

A |e-ShodhSindhu | L e

B. |e-Yantra II. |Robotics outreach project run by IIT, Mumbai

C. |e-Vidwan III. | Expert database and National Researcher's Network
D. |e-Kalpa IV, | Dagital-learning environment for design

Choose the correct answer from the options given below:

1. A-IV, B-11, C-III, D-I

]

. A-IIL B-I1, C-1, D-1IV

3. A-L, B-II, C-III, D-IV

=

.A-IL B-1V, C-1II, D-1

Question Number : 35 Question Id : 3421234864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CANERIEEIELY

I I
UEIER)

A |£ vy " ;isga%-g? HIHTRT HEGRNE THBRI (3-G&dd AR 3 -S-eh) Tl &
ERE] 0. |31 3 & gus gRT I o <eT Asiiead Agedid Helde
s- fagH 111, | U0 STered 3R I3 =y Jedd

D. |- % 1v. | fafored i Tarde (3ffavms uRamn

" f6u U Al § U Tot 3R &1 I994 BIIT;

1. A-IV, B-11, C-III, D-1I

I

. A-IIL B-11, C-1, D-IV

3. A-L, B-II, C-IIL, D-1IV

4. A-II, B-IV, C-I1, D-1
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Question Number : 36 Question Id : 3421234865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The amount of rainfall required to saturate the soil is known as.

1. Field Capacity

(]

. Soil Moisture content
3. Soil Moisture deficit
4. Wilting Coefficient

Question Number : 36 Question Id : 3421234865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 &1 Yqwd B B (AT ATa=aS a9 B HHT B o-
1. e o YTRn

2. el 4! Dl |l
3. HeT AH AT
4. T1( T[0T

Question Number : 37 Question Id : 3421234866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Groundwater is specially prone to excessive hardness due to.

. Calecium and Sodinm 1ons

]

. Calcium and Magnesium ions
3. Sodium and Magnesium ions

4. Potassium and Calcium ions

Question Number : 37 Question Id : 3421234866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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19 &1 IUTUFA & BRI HITSTe [N ¥ e HERdl B Udf gldl ¢-
1. HicaH 3R WISy 3

 hicHTH SR HARIEH 3E

3. WIfSTH SR HifREy g

4. UIeRrgn SR Sfcam s

f-2

Question Number : 38 Question Id : 3421234867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events in the order of their occurrence starting from oldest to the recent.
A. Bhopal gas tragedy
B. Fukushima disaster
C. Chernobil disaster

D. California Smog
E. London Smog

Choose the most appropriate answer from the options given below:

L.EE B A C
2.E;C.A,B.D
3B EAC B

4.E.D.A,B.C

Question Number : 38 Question Id : 3421234867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad ge-rs & 39 9ied gH & ®H H Tad UdF ¥ 3RY $Hd gU TdiHad ddb
AT BT

A. HIUTE T A1G1
B. BRI gl
C. Iifad g
D. hlhITa1 T (YH-HIgR)
E. ded ST (YHDIERT)
1 fGU U fasedl 7 U gt I &1 904 I

1.D,E, B, A C

b2

.E,C,A.B,D
3D EACB

4.E.D,A,B,C

Question Number : 39 Question Id : 3421234868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following National missions come under the National Action Plan for climate
change?

A. National Solar mission

. National Water mission

. National Green Hydrogen mission

. National Mission for Sustainable Agriculture
. National Mission on Sustainable Habitat

HON®

Choose the meost appropriafe answer from the options given below:

1.A. B, CandD Only

[

. B, C and E Only
3.C.D, E and A Only

4.D,E, A and B Only

Question Number : 39 Question Id : 3421234868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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%@Hﬁﬁﬁﬁmw,mmWWW(mmﬁm
87

A. TP IR el (AeR) e
B. IPT oid A=H
C. P A RS fHRH
D. IV SHEanil HeRufia HiY ffH
E. 191 afuaitl derofia qafarg frg=
A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1.Hdd A, B, C 3R D
. Had B, C 3R E
3. $HddC. D, E 3R A

4. HddD.E.A3RB

b2

Question Number : 40 Question Id : 3421234869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
Organism Trophic Level
A |Lion I. | First Trophic level
B. |Trees II. | Second Trophic Level
C. |Fish III. | Third Trophic level
D. | Grasshopper IV, |Fourth Trophic level

Choose the correct answer from the options given below:

1. A-1, B-1IV, C-II, D-IIT

I

. A-IV, B-1, C-1II, D-II
3. A-1l, B-1II, C-1, D-IV

4. A-1I1, B-11, C-1V, D-1

Question Number : 40 Question Id : 3421234869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A =R L |gyn giel &R
B |3 11 | fercf o =R
C. |gadl 101 | it aret 'R
D. |fegi g | v | =g ot =R

Ard U U f[dahedl § 4 To1 SR BT 999 DIl

1

2

Question Number : 41 Question Id : 3421234870 Question Type : MCQ Option Shuffling : No

. A-L B-IV, C-I1, D-III

. A-IV, B-1, C-1II, D-II

. A-IL, B-III, C-1, D-IV

. A-IIL B-11, C-1IV, D-1

Correct Marks : 2 Wrong Marks : 0

According to National Credit Framework (NCrF). the credit level earned after obtaining

Bachelor's degree (three years of undergraduate programme) will be

I

[

Question Number : 41 Question Id : 3421234870 Question Type : MCQ Option Shuffling : No

7

h

h

h

h

Correct Marks : 2 Wrong Marks : 0
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PG hfSe BHID (NCrF) & 3FTIR Hdd &1 IUlfY (fhdt +it di a9 & sfszasue g
Tt B3 & U4Td 3ifSid hige B wR ghl-

S

]
LA
Lh

7S]
=)
L.}

e
h

Question Number : 42 Question Id : 3421234871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The acronym ‘APAR" for the student ID stands for:

1. Authentic Permanent Academic Account Registry
2. Automatic Personal Academic Account Registry
3. Automated Permanent Academic Account Registry

4. Authentic Personal Academic Account Registry

Question Number : 42 Question Id : 3421234871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 43 Question Id : 3421234872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following flagship programmes in chronological order according to their years of
launch.

A. Naya Savera- Free coaching and Allied Scheme

B. USTTAD

C. Pradhan Mantri Jan Vikas Karyakram

D. Maulana Azad National Fellowship

Choose the most appropriate answer from the options given below:

1.D.AC.B

2.4, D, B.C

3.B.C.D.A

4. A.B,C.,D

Question Number : 43 Question Id : 3421234872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeRad TelTiRIg URIH &1 3d 3RY giH & a¥ & 38R SIarhiHd H Haiyd HIfeg-

A. 11 GR- e BT IR Ggdg ale-l
B. 3&G (U dush

C. YA 59 [aH T S

D. HICHT SATefle AP Bl

A fGu U fadedl § O ¥8T 3R &1 994 DIfoIu:

1.D.A.C.B

[

ARG
B OB

4 A B.C,D

Question Number : 44 Question Id : 3421234873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A major defect of the sargeant plan was

1. Integration of education with economic institutions

t2

. Emphasis on social sector
3. Too much importance to technical education

4. Highly selective admission to colleges

Question Number : 44 Question Id : 3421234873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 45 Question Id : 3421234874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following recommended the linkages of Universities with outside autonomous
research organisations?

|. Indian Council of Medical Research
2. Education Commission ( 1964-66)
3. Indian Council of Agricultural Research

4. Caleutta university Commission

Question Number : 45 Question Id : 3421234874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 342123197
Question Shuffling Allowed : No

Question Id : 3421234875 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Assamese or “Asomiya’ is the most commonly spoken language in the state of Assam. Besides. it
also serves the purpose of a link language in the whole region. As a language, it is considered to
have evolve out of Magadhi, a form of old Prakrit language. However, on account of various
influences over the vears the language has come to acquire some variations in its form of speech.
These are called the groups of dialects of Assamese. Of these, the eastern group of dialects is
spoken mainly in the Sibsagar district and its adjoining areas. Similarly, the central group of
dialects is mostly spoken in the Nagaon district and the areas adjacent to it. In the west, on the
other hand, there are two distinct groups of dialects. These are called the Goalparia and the
Kamrupi groups.

Bodo or ‘Bo-Ro’ is another important spoken language of the state. It belongs to the Tibeto-
Burman language family and is mostly spoken in the areas coming under the Bodoland Territorial
Council, where it is the official language. By the 92nd Amendment of the Constitution of India
2003, Bodo has also become one of the 22 scheduled languages of the country.

Sub questions

Question Number : 46 Question Id : 3421234876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

From which language is Asomiva considered to have evolved?

1. Tibetan
2. Magadhi
3. Angika

4. Thai
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Question Number : 47 Question Id : 3421234877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which group of dialects is spoken in Sibsagar and adjoining areas?
1. Southern
2. Eastern
3. Western
4. Northern

Question Number : 48 Question Id : 3421234878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which groups of dialects are spoken in the western regions of Assam?

1. Goalparia and Dimasa
2. Kamrupi and Karbi
3. Goalparia and Nalbaria

4. Goalparia and Kamrupi

Question Number : 49 Question Id : 3421234879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the official language of the areas under the Bodoland Territorial council?

l. Rava

2. Asomiva
3. Bo-Ro
4. Garo

Question Number : 50 Question Id : 3421234880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the link language of the region as mentioned in the passage?

1. Asomiya

t2

. Bodo

3. Nagamese

o9

. Kamrupi

Question Id : 3421234875 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 3421234876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 47 Question Id : 3421234877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 48 Question Id : 3421234878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 49 Question Id : 3421234879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 50 Question Id : 3421234880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 51 Question Id : 3421234881 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 3421234882 Question Type : MCQ Option Shuffling :

Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 3421234882 Question Type : MCQ Option Shuffling :

Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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L. G
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4. foareran

Question Number : 73 Question Id : 3421234903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“FUF IBG] SSTAT (TN AF0] PO NS 50, GF0! (o F2, JF6I e
G "SGR WGP 92 S0 (T SHEF (T 7 SR 6 2

| DO WIFF 5 50

2N SES 5l 71

]

3. 5 SIEF 0ol 70
4. o1 SIS 9O 7*1)

Question Number : 73 Question Id : 3421234903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“FUHF BT ST (TN AP6] OIS T, AR5 [[A0a T, IR0l Sel™
G "SGR WGP A2 &6 (T SEF (I H R (6 26—

1. 9Ol O(Fd T;Tg?f?‘ﬂ
2. YN SET 59Y 70
3. 5 SIUEA DO 1A

4. oI ST oI 7+

Question Number : 74 Question Id : 3421234904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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PR L]
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3.9
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Question Number : 74 Question Id : 3421234904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“HATCE N (OTNF FIS *MAR FF (A0 — YN Y NG GRS OS5 TG =el—
PR a1
2. F8I
3.9
4. o Ta

Question Number : 75 Question Id : 3421234905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“OI[FR STNAT YA STNIATG A0 FIFIF B [ ATRSIICTI T A5 [« 2N
(DY 92 TS (T 2A(HT B9 116 Bel—

1. BT ATl PGP VO
2 N5 AT
3. OIA9HH

4 MR 4«4 b T wld]

Question Number : 75 Question Id : 3421234905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(BIYIF 92 I (T A]AFHT B w9S (716 =el—
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Question Number : 76 Question Id : 3421234906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1A AT T (T ATGBIE 0% Y410 Y& (Gl (6 2el—
| RIS
2. [Afqer sz
3. To
4. IfR9y

Question Number : 76 Question Id : 3421234906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AR AT T (T ATGBIR 0% YOS Y& (R0 (116 2ed—
1. SFEHTTRIE
A EIEEIERRES
3, To
4. 129y

Question Number : 77 Question Id : 3421234907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. NG 8 EIEIF

Question Number : 77 Question Id : 3421234907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(T (T A G AT SEO] 267 B ANY GLBIATLI A ATGRI AR ST

IR~ o7 9iG6 ATG P 26—
L. §a(ag @ AR
> S @ AR

3. YY1 & AR/

4. ¢(qg 8 SEIETF

Question Number : 78 Question Id : 3421234908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TAPT N6 “wldor ATGHY ywo e IHNHI (FH NI AB*® Z(ADA?
RIS
pACTL)

3. X9

4. N4

Question Number : 78 Question Id : 3421234908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 79 Question Id : 3421234909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TSNS (F AB0I POT NI S5 WG (T61 Wi Hre few e
220G I"— % PG Gl S0 (T AR AR, ©f =ed—

1. ARE qrar
2. ¥fomd

[

4. [R¥[«1d A4l

Question Number : 79 Question Id : 3421234909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“GNTS (T JFGI POT AT B9 ST (61 WMo e ofewr #fdrs
22TMY I*— 2 I G ATFF (T A 0007 00, O Td—

1. RS @
2. fFrotna

3. FICRTFol
4. FRNETT Al

Question Number : 80 Question Id : 3421234910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. f5pf®
3. (oAl
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Question Number : 80 Question Id : 3421234910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“HFHTHI T (I A TS [GIAp AFAORAC (Mo 31 T
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1. IS
2. (55
3. (A7l
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Question Number : 81 Question Id : 3421234911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<P TGP TR 26 FAGS 1109 AL (TN 1”92 o fRrea- [
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- AIBT (I

I

3. (NIRRT YGAAE
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-+

Question Number : 81 Question Id : 3421234911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 82 Question Id : 3421234912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ARIEES O 7™ AN I2M0 2 AFI10 27—
1. Y58¢ &0

BYSUl g ERIeT

3. 5548 &6

4. 5594 fPBI=

]

Question Number : 82 Question Id : 3421234912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ARIEES TS 7™ AR IR0 AW AP0 27—
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]

Question Number : 83 Question Id : 3421234913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 83 Question Id : 3421234913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1l AR GO b (aNIla P 8 Mot (s Cquiage qelrg= [{« fof 2taa—
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. (VRO TGAAIE
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[

Question Number : 84 Question Id : 3421234914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BB QYA (AN PICA! 09 Bl (=RIFAN
TYAF APe- P [Pl BLACR AT
— IR PRGOS (T TAPRD AYSF 2R (716 Ze—

1. fRtarres
2. fo=I
EMEER

4. SIfoeCITE:

Question Number : 84 Question Id : 3421234914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. o
2. fFoI
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Question Number : 85 Question Id : 3421234915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STE1 RCS ST 7% O I'—SHYS BRI FHEGHOGro (T WeAHH0 ATS AR O

el
1. SIS
2. WOEP
3. OB
4. BTG

Question Number : 85 Question Id : 3421234915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STE1 (O IV 1% O | BHYS PRI FHEGHOGI® (T SsHIH6 HLS AR O

el
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2. WOEP
3. OB
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Question Number : 86 Question Id : 3421234916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 86 Question Id : 3421234916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

NI ST AGPOST VT (RPFATE RS 26—
1. G2 BROrTde 9903

Bl BHF biew BN(P BT 53¢ 639

[~

3. Mo A= QUi WIg (9w
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Question Number : 87 Question Id : 3421234917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

P 1 ool S il

HIHOEAR (ATABH WIAFA (N ZIA NG IR AN o1 ZCARA?

1. SR
2. NITCGIE
3. Pifere

4. PIECE

Question Number : 87 Question Id : 3421234917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 88 Question Id : 3421234918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

PIRAGRGVAIHATGN BIRAFZNOR:E ' GI& 6 BIR?
. AN
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3. RS
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[

Question Number : 88 Question Id : 3421234918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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[

Question Number : 89 Question Id : 3421234919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 89 Question Id : 3421234919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GCEIEI NN T A AP A R NS 2el—

1. (TNl
I E
RVD IS
4. effetol
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L8]

Question Number : 90 Question Id : 3421234920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W66 «CATTIO I A NGIRF JAH JIECY @R FIREITS AT (F
BrWd (710 26—
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pRUI BN EES
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Question Number : 90 Question Id : 3421234920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 91 Question Id : 3421234921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Oy Bl 24
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[
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3. B,C.D.E.A

4. C,.B,AD.E

Question Number : 91 Question Id : 3421234921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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CADBE
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I
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Question Number : 92 Question Id : 3421234922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. (% 34
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Question Number : 92 Question Id : 3421234922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 93 Question Id : 3421234923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 93 Question Id : 3421234923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 94 Question Id : 3421234924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 94 Question Id : 3421234924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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E. fOUG (IT6 =yen M NG Gite At

NG HL(PLO & PN 3P [PFo 2e—

1.C.B.AD.E

[

.B,CAED

[N

.ACBD.E

4.CAABDE

Question Number : 95 Question Id : 3421234925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. B.ADCE

4. A,B.E,D,C

Question Number : 95 Question Id : 3421234925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 96 Question Id : 3421234926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. D.E.A.CB

Question Number : 96 Question Id : 3421234926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 79/146



8/24/24,12:27 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
Al
-(GIOIZ BiFS N GHAITE “OFNIF TNRON (ATF FIIBI6 NS 05 (RSH =

A. PITGT® IR0 ATCAF *1 N ®N© H[S R
B. AANZA 02 (SIAaA |

C. ANRINGT FAT (RUH2 AS |

D. ANG ©fF 2520 AT LT B AR

E. WIGiBle (M<ple] 20T SR SHa3 N |

NG MTHCO &% PN D5 [BFI6 2e—
1.CDEBA
2.D.C.EBA
3.D.B.EAB

4.D.E.A,CB

Question Number : 97 Question Id : 3421234927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 97 Question Id : 3421234927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 98 Question Id : 3421234928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 98 Question Id : 3421234928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 99 Question Id : 3421234929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AN OIS S fVGF QU 7 (AT W6 FIHI0 AT (ST =4

A, I YT Sl (R 12
B. ¥« 4 *12(4|

C. AGLE (9] ST STH2 AT
RS EEIGEIGEIGH

E. IO (FRITAAT F13!

NS MUAB(O WG PN 35 [P 29—

1.C.B.E.D.A

[

.E,CD.AB

LS

. C.EB.D.A

4.B.C.E.D.A

Question Number : 99 Question Id : 3421234929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“SIAN Ol S VR OO 95" (TP (WG FOABIO BT (RSN 2eT:

A, ST YA ]l (R A1Z|
B. 4 34 *1=(4 |

C. AGLE (Of =9 312 |

D RUCEEGEAGEIGH

E. IO (VRTATAT FI3!

NG HL(PLO & PN 3P [PFo 2e—

1.C.B.EDA

[

.E.CDAB

[N

.CEBDA

4. B.C.CED.A

Question Number : 100 Question Id : 3421234930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR VEPTAN RS “ATPR [P 0 OTO1 2RI (AT Pl FLABIG N 44NN
(RS =6,

A. 204, S@NOA57] Hol F4 Jod |

B. & *[IP 4 A4S (F B

C. *IEIE Gl TAF 255 |

D. *I 47 B 4TA AT = = 91 72 I M2
E. *1TeTl {3 RU=Ep6:

NS M(F(O W LN 3 [{PgD 21—

1.CDBEA

2

. ADBCE

3. D,EB,C.A

4

-B,C.DAE

Question Number : 100 Question Id : 3421234930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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WIR(F VTN RS “ATPR (B 01 TOTOl R (ATH Pl PLABIG Heel™ 4N
(T =eT.

A. 2304, S99 Jol T4 Jod |

B. & *IEIP 4 HfYIIO (F B2

C. *Ie GGl AYF 2o |

D. ®H 4 FE 4TI A0 = =T 9172 I Mz
E. *17eTl & Ruonfepo:

HANS MTPLO W PN 35 [{PgiD =2—

1.C.DBEA

(]

.A.D.B.C.E

3. DEBCA

I

.B,C.DAE

Question Number : 101 Question Id : 3421234931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AW AAPIAF TP 2ORPT WGP AL (AT PCIPI0 AT AN (3TN =e:

A. (NCATETINT GRE@R gl |

B. WIIATAA I5(0 A\ (A JRYC3d ANIBIE |
C. (AN TG (WIH2IF | SRORSTE RIS BAE. . |
D. RBAAd FANTACGH FI |

E. 1619 RPEd 9] | FrE18.93 SFron™dl AINF (G 9aly... |

NS (PO W% P [P [FPFIG 26—

1. D.E.A.C.B

I~

. CABED
3.B,ED.CA

4. E.C,A.DB

Question Number : 101 Question Id : 3421234931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AWl HIBIAD P 2O NGLRF AN (ATH PCIFI0 BT QLU (ST 24

A. (NI Garad g1

B. WIATAA A5006 BT (HHF J2Y0d ANIBIE |
C. (AN STHGA (NIHZF | RORSTE RIS 5. . |
D. R FACTACGHN B |

E. A6 P49 27 | TE18.99 SFronSdl AILD (BN 9y, . |
NG (B (O 7 PLU [P [P0 =e—

1. D.E.A.C.B

[

.C,ABED
3.BED,C.A

4 E.CADB

Question Number : 102 Question Id : 3421234932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Bad fofd* ) AIF (ATH FARI0 AT (ST =4

A. (N IR (BeTF WOl 72 SF (H2]

B. (RICGT NI AF (RG] 1242 MR

C. MMA Tl FHATATT OIRd AR (7 24 1232 2T B9 AN |
D. (I-573 GHATF O H2 (L Wwfo 2Je 20F 89 15 272 98|
E. %1% O *@UeAd AT ©I8Te BICH, SWINTHE (BI04 FIRCI S© 9|

NS MUAB(O WG PN 35 [P 29—
.EDB.AC
2.D.E.CAB
3.B.AED.C

4. CADEB

Question Number : 102 Question Id : 3421234932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Bad ol AIFH (ATH PLIIRI0 AP (RSN ZeT:

A. (311 990449 (RT3 WO 7221 =1 (N2

B. (RIGI NI ACF (RIGI H2 42 HeHR|

C. M FOIF FHAHIY O AT (7 124 2372 2T 509 AN
D. (I3 GHF O R Wolo 2qe 20 819 (183l 22 9|
E. %1% S *[QUed A1 OIS SICH, SWINTHE (BI04 FIRGI Bt GeR |

NG HL(PLO & PN 3P [PFo 2e—

1.E.D.B.A.C

[

.DECAB

[N

.BAEDC

4.C,ADEB

Question Number : 103 Question Id : 3421234933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FAFIANLF “Y[P BT A% HIALGCA PLIPIG AT (NG (ST 2e:

A. (OIG BLH (5107, (SIGGI A<

B. G (GG G (0T 06T =T ST
C. SIS W MAte (TR SIS SN |

D. B 0% SN SN QIR G _E A |

E. ©F 5SSt ISANE 6e3fS |

NG M(HLO MG FLNS 2P [FPF0 2e—

l1.B,AECD

]

. B,C.DAE
3.B.C.D.EA

4. B,C,A,E,.D

Question Number : 103 Question Id : 3421234933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FATANLT “HYP P ATH WA PLARI0 BT (NG (RSN 24T

A. (ST GBI (5108, (OTGG! 1< |

B. GiII{<61 fGIHAGI GRS (5T 00T 20T SLIa |
C. SINICH M AT (VTR WIS AR5 |

D. Qi & OIEN SO Ng YRR 5 I[E A |
E. 4 (693@ 6 TSANE Hadis|

NG (B (O 7 PLU [P [P0 =e—

1. BAECD

[

.B,C,DAE
3.B,C.D.EA

4. B,CAED

Question Number : 104 Question Id : 3421234934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W06 (HATIAO I TIAFA P OB [T PLIAF0 VB (N (ST Ze-

A, SR (APH WY ASH WA Fold |
B. (**I< (P2 BB HINHF Fwlf<F Jfa |
C. SYFA NI FORS|

D. NF A ST @ SFAFE G|
E. 3% O33N TR 26 I & Brd (14|

NG M(FLO M PN 2P [FBF0 2e—

1.B AD.E.C

f-2

.ABCED

3. D.B.ACE

4. B,D,A,C.E

Question Number : 104 Question Id : 3421234934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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WH 6 (AT I WA P BB (Y BIF0 B (N (ST =26-

A, ST (AH AT ST HAHE Fold |
B. (*I*I< (Y(PE O[FP HNHS FIollE IS |
C. SHFA NI FOR[S|

D. NF AR T @ SFATH G|
E. 0% (23N FwQ91O 26 U] & [Lwd (14|

MG H(PLO ® PN DB [P0 2el—

l1.BLADE.C

[

. AB,CED
3. DB ACE

4. B.D.A,C.E

Question Number : 105 Question Id : 3421234935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W00 (AT TITFA PLIF0 NS (WD Oy =26

A. V1T BICGIGE SINITT GAMICANE Qel= STBTT SN Fg @i |
B. GGG G106 18I, =7 8 [[Uars wyrrow {2 (Gad srgeae |

c. TG d G =A% MErE-Mod iy (ATF, FOAed G Flad-liied
AN (AT |

D. (3 IM Mt BITGiS SIS, [958 ofda Im My Grsis e84 |
E. BTGIGT® wory Sist=ol Wi B Rrie STo1 Satea CUHI|

NG (B W BN (3P [P =T —

1.C.B,D.EA

]

EEBDA

3. C.ABDE

=

.D,BCAE

Question Number : 105 Question Id : 3421234935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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WIIESHEEE (ATIG A SIFAHA PLIBI6 NS (W6 B F4l 26

A. T GO SNIT) GATAIING Qe AGCN BN #5esiae |

B. GGG G5 9181, =7 8 [T wrew {12 (ad Seg<sae |

C. oS G AR MLRE- Ao AFy (AP, OGO FIiEe- Ao
Y (AP

D. @531 A et GIUeiS SsiE, (68 bida Im M GIisis sS4

E. GGIGIe 9ol Sifsiael Wid fBlae 5iena SIo S0l (TRIE |

HANS MTPLO W PN 35 [{PgiD =2—

1. C.B.D.E.A

b2

CEBDA

3.C,ABDE

I

.D,B,C.AE

Question Number : 106 Question Id : 3421234936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

06 AR T F© FIF0 WF-SI®Z TS (RSN 26

2 QWD ST, 27w, B 8 51:J i

T RN (FH, 4%, NENg 8 WH[{3e |/
S SRING (AT, 1653, (9F 8 {99 Wi

- @A Y, A, (NN 8 WH[{ge K/
9 SKIG **BIS, G, [H 8 9w |+

S MHO (T [P ARG W8T &% (16 2ed—

moow»

1. A B, COnly

I~

.B, D, E Only
3.B.D Only

4. C,D, E Only

Question Number : 106 Question Id : 3421234936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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NG TR ST F© FARI0 ®7- W™ TS (M3 26l

A. °Z /NG WY, AE®, T 3 Hego KN

B. 1" KNG (FHRIY, W43, NENY 8 WLi9go KW
C. "I &[G (FHIY, WIE, (W7 & (9w |

D. « 4" RIIG 7YY, A9, VAN 8 w9 KN
E. <[ §]iG 618, G, [WH & 99w i«

MG PO (T [PFOT® JFIBI6 BT & (576 =el—

1. A, B, C Only

[

.B, D, E Only
3.B, D Only

4. C,D, E Only

Question Number : 107 Question Id : 3421234937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TGO WO ST (E FITF0 WG S ® g NFT (RS ZeT:

A. AN *TOAF B HFT 26l HsF© OINF BRI

B. AT AFS (ATH G0 NArerdey Wl eraese 5Eh =14 [ow |
C. P Ol (FIAS TEN, (HIAS T AT @741 =71

D. BRI *Io(F W FHel SfGN ORrd ©fd A6 G|

E. WK1 O AN [Wvsfe AISIT AT G *1o(Hd BLIBI0 ST |

M@ RO (T [PHOro JIF0 NB<T &% (516 =el—

1. A, B, E Only

[

. A, C,E Only
3.B, D, E Only

4. C,D, E Only

Question Number : 107 Question Id : 3421234937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TGO WO ST FIAF0 S-S ™G NFIT (RS Ze:

A. A *TOAIF “Bi &A@ HFT 26l HsF© OINF BP|

B. AT AFS (ATH G0 NArerdey Wl erasse 6Eh =14 [ow |
C. P O (BIA1S FEM, (BIAMS A A0S (@41 27|

D. BRI *Io(F W FHel SfGN ORrd ©fd Ao G|

E. NI O AAW N ATST T Q% *o0hd FUABI6 STg# 50 |

MG PO (T [PFOT® JFIBI6 BT & (576 =el—

1. A, B. E Only

[

. A, C,E Only
3.B, D, E Only
4. C,D, E Only

Question Number : 108 Question Id : 3421234938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

J15eT OINIE RNOIfed 8 TGP (ARE] TH [$g ®5-SI&G NE Bl 24:

A. A5 15T MR &N SAP R 3% 20AT |

B. W4T 151y Y 0N - (F [Rofe & 29|

C. ST JIAT W SEFCI TS (741 I |

D. SN 3T SN & Woi0sfd RIS Io0Y AHi |
E. SIH-XT A7 -4 RN 3 F0o1 Oshlide 29|

MG PO (T [PFOT® JFIBI6 BT & (576 =el—

1. A, B Only
2.A,C,E Only
3.B, C,D Only
4. A, E Oaly

Question Number : 108 Question Id : 3421234938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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J15eT OINIE RNOIfed 3 TGP (ARET TH [$g M5 SI&G NE Bl 24:

A. A5 13T NI &N SNP GFL 3% (AT

B. W4T 1o Y 0N - (F [Rofe & =9l

C. ST JIAT W SEFCI TS (741 I |

D. SN I3 SN & Wi0sfd RIS 60T AHi |
E. S0y q13ry - R 3 o1 Oshlide 29|

M@ RO (T [PHOro JIF0 NB<T &% (516 =el—

1. A, B Only

[

. A, C,E Only

3.B,C,D Only

+

. A, E Only

Question Number : 109 Question Id : 3421234939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

G ST NAATATF SAAAC FIAF6 ®F-S[®F YBF) (ST 2:

A. T AT G AF*TS 797 B35 B |

B. 25 3T ¥ (MUY Qe A (|

C. el f{fGe TCe BiM STSHI51F 1% *B19 18 AT |
D. W{ERT AGAE G I {0y |

E. S[® 48379 N0 ASI9I S oR 27|

NG B0 (T [PFOro HIF0 NB<T &7 (51 =el—

1. A, C, E Only

t2

. A, B, E Only
3.D,C, B Only

4. B, C, E Only

Question Number : 109 Question Id : 3421234939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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G ST TN WA FIIF0 WF-S®F YB) (ST =-

A. AT T YOI JF41S Y97 T3 HLA|
B. RN R S (T GLeT AT (|
C. Wl f{fSrd TCe BiM ST8wI9d 1% *819 18 AT |

D. WIEF AGING Ar60d W [R5 |
% ra
E. @ AT T T3™ad F0on 2|

M@ RO (T [PHOro JIF0 NB<T &% (516 =el—

1.4;C,E Only

[

. A, B, E Only
3.D,C, B Only
4. B, C.E Only

Question Number : 110 Question Id : 3421234940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(AR SfoP WA PIABIE 73S ®q NS (1SN =eT:

A. SN (VIR G AT I3 BT 24|

B. 5B Ml ARG BIF T AL |

C. B¥ NI M FHICF N i S |

D. NIENFA A 41N 601 (40O 15+ BF |

E. S{S=EY N0 AW B AT NZAE ST (|

HANE PO (T [RFHOr® HIF0 TS &7 (716 =el—

1. A, C, E Only

2.B,D, E Only
3. A, B,D Only

4. B, C,D Only

Question Number : 110 Question Id : 3421234940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 93/146



8/24/24,12:27 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

TANAPIE MOB WIAT(A PLARI0 HG-S &7 B (ST 2eT:

A, VA (VBN (G 37911 541 26 |

B. 5B N ARG BIF N Y|

C. ¥ N7 M FHICF RN i S |

D. NIENFH A LN 601 (400 7% SE |

E. SR N NWTd 6 [ N2 ST (e |

NS PO (T [RFHOr® JFIBI6 BT &% (576 21—

1. A, C, E Only

2.B, D, E Only
3. A, B, D Only
4.B. C,D Only

Question Number : 111 Question Id : 3421234941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'@ﬂ\fﬁlﬁ] AT - TIPS (AP PLAPIG & D™ A\ (S =2T:

A. F*5N MR W% S0 2HIGo |
B. 5B A R WH R A |

C. AP 19 AGTe =Y AP 56 AT |

D. & WA IR IFF TR

E. 463 Y FiFeT 0N WA (G1F|

HANE PO (T [RFHOr® HIF0 TS &7 (716 =el—

1. A, B, D Only

2. A, C,E Only
3.B.C,D Only

4. A, C,D Only

Question Number : 111 Question Id : 3421234941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 94/146



8/24/24,12:27 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

IS AL A9 AFIRIS (ATF PLIPIO WGy THT (S 2T

A, 6 TR Tz $F 2900 |
B. 5&d M WI(Q ©[57(Hd |
C. B 19 AGTe =Y AP 56 AT |
D. & A AR I TR
E. 493 Y3 Hige 9N WA (BT

NS PO (T [RFHOr® JFIBI6 BT &% (576 21—

1. A, B, D Only

2.A,C,E Only
3.B,C,D Only
4. A, C,D Only

Question Number : 112 Question Id : 3421234942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¥R GHANIT WLAF A (G FIAPO S-S @7 YBWT (A 2e:

A, o9 TN S SEFI BN W |*—[BIG WY B ARy
AR |

B. QII{s* HHERIAE WIN—: (BT 5= AGAG" |

C. GHANIIT Lﬂiﬁiﬁ‘ﬂm A JUERY &% (IR el RS SH0 MIF|

D. I | G T | _ﬁasmﬁaﬁ‘mzrm AN AR |

E. SIFAE O WO [935F AN IR GHYRG AT AR =l

Hw 39|

NS HHO (T [PGlO AIPI6 WBT 8% (A6 2el—

1. A, B, E Only

-2

.B, C, D Only

3.A,C,D Only

=

.B, C, E Only

Question Number : 112 Question Id : 3421234942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fIFF TANT WLTH A (NG FUARD @S ®7 NBJ (SN[ 2eT.

A. oA FHANIF 7 AR I N ' BI6 WY, [ BA@ AR
AURM |

B. BQIR* HFERAE AIN—: (BI(F9 5= GHG" |

C. AN JFI6 N AHIH=R ®F 2OACY Il IR *[A06 MiF |

D. ‘I[P | TG T |I'—I2 FAMGT Blad WG AN AFR |

E. JFNE (TN WO [[ITF GANIAR BRI GHYL GATN 0= [0
Awlfqo|

NS AP (¥ [FFFHO® AIHR0 T8 &7 (D 2el—

1. A, B, E Only
2.B. C, D Only
3.A.C,D Ouly

4. B, C, E Only

Question Number : 113 Question Id : 3421234943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QI SN G A [05ER (AR PIII0 WF-S &7 <6 N (T =41

A. T (PG AR =1 g, Wi [{4w $94 |

B. AFAF *IT3 I (FIN AT 4|

C. SHBIE MDA SR BT

D. SGAA GEIlANS A S9Nold, [FE NI V0K 72 ST

E. (PRI (2 AT B | NEAAT YL Qe O[BIEA A |

e M(Po (F PGB IR0 T8 &% (16 =ed—

1.A.B,C,D Only

2.A,C,D,E Only

3.A.B,C EOnly

4. A.B.D, E Only
Question Number : 113 Question Id : 3421234943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I BANITT %] AR (TP PIIF0 ®G-S ™G IR W6 (T =4

A. IV CFIGMIE AL N FE. N [ FA41

B. AT *1TH I (NN A F4H |

C. SHRHFBIA MO STAHe FCAT|

D. SG(TH Gl A4 S[5Told, (3 N WK 72 |T|

E. (¥R (2 A B | NELNH YL Qe ORI |

S P (T RFFO® ST 187 &5 GIf6 21—
1. A, B, C,D Only
2.A,.C,D,E Only
3.A,B,C,E Only
4. A.B.D, E Only

Question Number : 114 Question Id : 3421234944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TGN AN ATF (AP PIAPI6 ®F-S ™G YBDT (ST 26T

A. JO0 [NYITol SINTHE ST 1|

B. ©id 1@ & FIIT (I AN AB0I AT 0T HorsF Fa0e|
C. AV I A G2 (61 ABG! [T =2 84|

D. B~ ¥ (7 B =< (BT (6] OIUS A8 Y|
E. (79 G W O« I3 1, TS~ I WG IR |

HANE PO (T [RFHOr® HIF0 TS &7 (716 =el—

1. A, C,D Only

]

. C, E Only

L

. A, E Only

4. B, C Only

Question Number : 114 Question Id : 3421234944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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GNP ATV AT (AT BRI M3 ®% YBJT (] =24

A. IO [Nl ST ST 41|

B. ©Id 1@ & FIAT (I AN AR0I ARG ST 2 or=F F0e|
C. IS I A3 G2 (61 ABGT [T W2 IS4 |

D. B~ ¥ (i B =<1 (BT (761 ©OI[US VS WY&
E. (7% 9 W O« IR 1, TS~ T G /G |

NS PO (T [RFHOr® JFIBI6 BT &% (576 21—

1. A, C.D Only

2.C,E Only
3. A, E Only
4.B. C Only

Question Number : 115 Question Id : 3421234945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W & 5% A9 (AP PO @77 S @ NS (RS =6

A. 919 17, Vo) I92IEF (95 B0 7§ & IEAISTEAR WY A2 O3S 95 A6
ATH M%7 B2 (YT T2

B. APl *FRRNGE B = WSBH] |

C. (T o 7S e (57 261 2M*F, 78 =0T I gord J|

D. (3414 BN, (1417 BItH, STAd B, Sl *1®F (J1e, RN Maasfed B9

E. B0 @5 (ATF WIS (G149 & TN (T2 210 8 KT AT (H(H (L1919 & G|
(AR S (AT (O |

S B0 (F [[FPF60® JIHI6 NBIT 8% (6 2ed—
1. A, E Ounly
2. B, C Only
3.B,D Only

4. A, C Only

Question Number : 115 Question Id : 3421234945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hi% 8 58 HTF (WF PIIRIC WG- W& NG (RS =e:

A, 1917 99, (V9] T9203F (ST FIOGE I8 & TOISTEA WK 2 O3S 98 ABI
ATS M%7 B2 (YT 92|

B. PP RRANGE W = QS|

C. (T Jom= 7S % (57 21 2™, T 20N I (Gord Ja |

D. (AU BIH, (41F BIt, ST B0, S & (@1, ET fresfed 1K)

E. BI0Gd 95 (ATF WIS (514 8 N (T2 = & 16 = (A (Y19 8 O[]
(AR SIAF (AT (91 |

NS AP (¥ [FFFHOr® AIHR0 T8 &7 (D Tel—

1. A, E Only

2

.B, C Only

3.B,D Only

£

. A, C Only

Question Number : 116 Question Id : 3421234946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T (-3 RO (A(F FEARI0 BG-A® G TB) (ST 2:

A. “AAHNLF 95 A2 GIAN—ARAIG 2 ¢ (%7 (MY FIAOE|
B. [570® T (NGRPTSN A2 AZAT (1#1|

C. AT (%Y HoINCF AUE FU I AT

D. ‘2P FFAA— A2 FYT (MOASAF B0 AHAF 9359 |
E. ‘O W18 BT I *12Ed Glad Iy [od[|

NS SRPS (T [TRFOIS JTIBI0 VS &7 (10 =eT—
1. A, C Only
2. A, BOnly
3.B.E Only
4. B, D Only
Question Number : 116 Question Id : 3421234946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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[T (M7 FR9T (A(F IS0 MF-W &G TBF) (3T 2

A. AT 515 A2 G —ABAIG 2 ¢ (%7 (Y B |
B. [I5T0© T (NGRPTSN 4% KT (77|

C. ST (Y Ao AR FT el TR

D. ‘[P ST —A92 F - (AOISAE BN AGIE II29 |
E. ‘G W& FIKOR GIF] *1R(F9 B4 W(g o]

MG PO (T [PFOT® JFIBI6 BT & (576 =el—

1. A, C Only

[

. A, B Only
3.B,E Only
4. B, D Only

Question Number : 117 Question Id : 3421234947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YN HIFOI (ATF BADIO HZ-SI ™G NB) (TSI 2el-

A. SIMTAICY, (BI04 (BICY FTY OIP SI717 1B

B. {1 AT QNG TG AT PR

C. I %1 *roAd A= I35

D. 1% *[o(PS BI4S AN H&H« ANN F7e (@MW
E. SIFE GErs S Sia@ g v2 ST

NG PO (T [RFFHOr® HIF0 TS &7 (116 =el—

1. C, E Only

2. A, C Only
3.D. E Only

4. B. D Only

Question Number : 117 Question Id : 3421234947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Y[ BT (ATF BIIDIO BZ- S ™ NBJ (ST 26l-

A. SIMTAICY, (BT (BITY FTY ©ITP 71T *[BIA
B. P17 21T S ST ML BIR

C. ST [9¢#1 *rarAid ST« 9591

D. 91 *IolH3 SIS TN T AN T @Ml
E. S[hTe] G S S[qha 12 S0

NS PO (T [RFHOr® JFIBI6 BT &% (576 21—

1. C, E Only

2. A, COnly
3. D, E Only

4. B. D Only

Question Number : 118 Question Id : 3421234948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HABIG 95 (AP ATGI6 ®g-S®e TBJ (M 26

A, “O[2 NP W2fF 9 20T W —IF a1

B. ABIG #1e BMIA M (G WA 2GR OIS fOHIEre (e |
c. fovaG I 21§ 9@ ST (T—Je ] [IHI

D. “IHICE (H2IEN (VY (VY W3 ({89 20T |7 58 STYH" 75|

E. (MG B68 A Oi4 NI G AUGR, A4« B (42, THY (PIATA7 58 Nfoel
RG]

2MS NP (T [RFFOr® A0 NV ®7% (36 =el—

1. B, D, E Only

[

. A, B, D Only

3.C.D, E Only

£

A, C,D Only

Question Number : 118 Question Id : 3421234948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HATGIG 975 (AP ATBIG &g NBIT (RSN 2:

A, “OT2 NI NEfF 9 20T I —IT JAfFal

B. ABIG #1e BMIA M (GIS WA 2GR G [OHHTIEr e |

c. oSS I =g 9@ ST (q—J& ! [

D. ‘[P (BRI (NI (N0 V3 ¥ 0T SR 58 -STYH 97|

E. :{%&ls& BES A OIF N GLE NOLR, AN IF (W2, THT (I 58 “Noele
]

S AR (I [APFHGr® JIHR0 TBT 87 (10 2ed—

1. B, D, E Only

(]

. A, B, D Only

3.C,D, E Only

I

A, C,D Only

Question Number : 119 Question Id : 3421234949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG - A OeANEd OB GANT WIAH(A FLAB0 MG-S &G TS (ST Z6:

A. <(NIPIF (AIETTN et Giersll SN -9 TN SI0T | AP0 MU 490 A[{eRn
®F FACH|

B. 43 JFE°T G ML YL (1 G20 Migee= |

C. “NHUR J<IZ, B[N U 2] F GAT— IS Gr0ordel

D. o124 8 (F*{ J7, TOJ B [~ N |

E. (MG AFIBIAN FYR T (A ([IECT ISWE WNHG FG A2 RAGIT 9 NG|

MG MHO (T [P0 ARG W8T &% (6 2ed—

1. A B, COnly

(B

A, C,D Only
3.B, C,DOnly

4. A.B.D, E Only

Question Number : 119 Question Id : 3421234949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fNTE QeI ZfoPA SN WITT(N PLIDD ®G-S® G TE (ST 2:

A <(NIPIF (AT Bt Biersll SN 109 TN S0 |*—AIBI6 MU 490 A[{eRn
®F ZAH

B. A3 JEH°T 5Ge ML YL (F1 $207 Mige= |

C. “NG(g IR, SN N = F GG IS[ IO

D. TOI=MH & (F*H I3, OIS (W12 T |

E. (MG APIBIAN FYR 99 (AT (I I8 NG $G ATA2 WAGUT QI HOe |

S AR (I [APFHGr® JIHR0 TBT 87 (10 2ed—

1. A, B, COnly

(]

A, C,D Only
3.B,C,DOnly

4. A,B,D, E Only

Question Number : 120 Question Id : 3421234950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CRISAT 515 (ATH BIAFI0 MF-S S ) (N6 (RS 2;

A. (R (R 491

B. SR 2RI I NI |

C. (RI™{ME ©IRTS (91T (ST A1 |
D. YT NI (FI2F 520G G|

E. AP (0B 571 GBI GRS AL |

e MNP (F PGB IR0 T8 &% (16 =

1.A.C,D Only

2.B,D, E Only
3.A. D, E Only

4. A, C.E Only

Question Number : 120 Question Id : 3421234950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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CRISAT 915 (ATH FIABI0 M-S & BT (NG (RS Ze:

A. CRIPM (N 441

B. SRR 2RI I NI |

C. (I™ME SIRU® (91T (TN AT
D. AT NI (=T ST=0G G|

E. I[P (ATF 57 Bl SHITS AY|

NG MO (T [RFHOO HIB0 TBT &% (710 =eT—

1. A, C,D Only

2.B, D, E Only
3.A,D, E Only

4. A, C.E Only

Question Number : 121 Question Id : 3421234951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fBINE O WGP PLIADI0 ®F-SI ™G ©T (R 2

A. &GP AT SN SF ATAZ AT I, AT I7—NIAF Of e |
B. WA[ Al W12 FING W2 (AA—AEN6F Gl

c. [Atars N[ 52 29 fFod {251 Ofe

D. SN SIYOIGIH ATGPH 14— |— (1 G

E. BUel, Je[eTd 1012 ®F 20T (7 |—NIF Gfer

NS PO (T [RFHOr® JFIBI6 BT &% (576 21—

1. A. D Only

2.C,E Only
3.B. D Only

4. A. B Only

Question Number : 121 Question Id : 3421234951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fBINE O WGP PLIADI0 ®F-SI ™G ©T (R 2

A. &GP AT SN SF ATAZ AT I, AT I7—NIAF Of e |
B. WA[ Al W12 FING W2 (AA—AEN6F Gl

c. [Atars N[ 52 29 fFod {251 Ofe

D. SN SIYOIGIH ATGPH 14— |— (1 G

E. BUel, Je[eTd 1012 ®F 20T (7 |—NIF Gfer

NS PO (T [RFHOr® JFIBI6 BT &% (576 21—

1. A. D Only

2.C,E Only
3.B. D Only
4. A. B Only

Question Number : 122 Question Id : 3421234952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 9 (6 BLABI0 WG ST ™g NS (ST 26T

A. wﬁﬁﬁﬂmﬁwa%w\ﬂw Je] Y 1Y qM9 |

B. B49[d Bl™ (I [I99d BET (QATHT IA =T O A9 AT
C. BIWA 2 RS0 AEelEF 7N A eH @ |

D. BIA N [{@I91(F 0 el |

E. 11O RINATST NI 56 ([0 e SA[@ |

NG B0 (T [PFOro HIF0 NB<T &7 (51 =el—

1. A, B, C Only

t2

.B, C, D Only
3.B.C.E Only

4. C, D, E Only

Question Number : 122 Question Id : 3421234952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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15T 9 ST BUIARID &8-S &% NS (RS 26T

A. BUA ARG AYY 8 (ol ot 61 23 a9 9|

B. BIAWIF {7 (T (9997 2E1 (A SEIAH 2 OF AW AHFH |
C. B9 *I RS0 AEeIEE 7N A 8H |

D. B4 94 [F@I91(F e Vel |

E. 1919 HINATST 30! 566 [0 e Syife |

MG PO (T [PFOT® JFIBI6 BT & (576 =el—

1. A, B, C Only

[

.B, C, D Only
3.B,C, E Only
4. C,D, E Only

Question Number : 123 Question Id : 3421234953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG T35 DA STAF© FINRI6 ®G- W@ TBT (T Z-

A. G AYAS AGABE|

B. N5, 9197 8 HF={[d© 91 Q0] FoEHd W (AT (X (F2 ]
C. BN & SATNY HGIO2 He* Y AFe (AT ATHR WeleBF 27|
D. B WP GATIAE N I WFIFE F4l 27|

E. TNTHI& S HIE AFGOI6 AM6T, SAFO6 AN+ |

MG PO (T [PFOT® JFIBI6 BT & (576 =el—

1.A,B.D Only

[

.C, D, E Only
3.B,C, E Only

4. A.C,D Oanly

Question Number : 123 Question Id : 3421234953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 106/146



8/24/24,12:27 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

TG T35 DA STAF© FINRI6 ®G- W@ TBT (T Z-

A. G AYAS AGABE|

B. N5, 9197 8 HF={[d© 91 Q0] FoEHd W (AT (X (F2 ]
C. BN & SATNY HGIO2 He* Y AFe (AT ATHR WeleBF 27|
D. B WP GATIAE N I WFIFE F4l 27|

E. TNTHI& S HIE AFGOI6 AM6T, SAFO6 AN+ |

MG PO (T [PFOT® JFIBI6 BT & (576 =el—

1.A,B.D Only

[

.C, D, E Only
3.B,C, E Only

4. A.C,D Oanly

Question Number : 124 Question Id : 3421234954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QNI TH(F FAPI0 ®ZF-SI ™G NS (ST 26T
A, S RPN S WL SBAG G FHoTN+ A WBg AfGHT Bl

T |

B. *ISIAIM 5% = AR [ [eRv (A0F2 079 2olio =7

C. SIfoqNie & S (RITII G OISy KNG o3 20 A |

D. SIAI6ATSRRANTT IS ATHIN FRTOG ARl BRI WS (I6rad I
RO SO LB AP [N B I, ONFE (S (FS &K e
HRMICRA 1B GIF (AT FHACO AFN|

E. 741 167 S0Yd 2AfS [, Sithg g 3557 9L T20G AP 27|

NS MHO (T [[FFFGO AIPI6 W8T &% (A6 2ed—

1.A.B,D Only

I

. A, D, E Only
3.B,C,E Only

4. C.D. E Only

Question Number : 124 Question Id : 3421234954 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

@NA A FLABI6 WF-S[ ™G YBJ] (RS 26

A, @ RSN S WL SBANG G ForTN AT WBg AfOHAT Bl
IRl
B. *ISIAIM %137 = YIRS [ e (A2 079 2olio 27|

C. SO & SIS (MITFL GvY OISg KNG 56 200 A |

D. SIfNFENTORMITAE I AGIN FRATOS TRl BT HAL WS (Afbrad SE
AT WO IF HBF (N S I, OIPE (B (FS [~ e
HZMACTA AP QI (AT FACO A |

E. 141 167 Sq oS [y, Sithd S0y 57 WY T=00 AFo =7

NS MHO (T [FPFGO ARG W8T &% (A6 2ed—

l1.A.B,D Only

f2

.A. D, E Only
3.B,C,E Only

4. C.D. E Only

Question Number : 125 Question Id : 3421234955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BCTIA AN T IO AP A FCIAPID 73S ®7 YB]J (RSN =24:

A. SRITPIAA TS WAL FIECT 572 B, S2el 26 (I |
B. P AP NG N-ACHGG® Fg N[MeT57~(P el eIl SS9 |
C. FHTIM (N STBI9f fOF HBH |

D. 5], SO OIS [AOIN WG SAE 26 A |

E. (N2 V2[S[({ SMGF OTYR SPais A |

RS MO (A [RFFO® HIHF0 TBT &% (16 26—

1. A. B, C Only

2.B,C,D Only
3.A,C,E Only

4. A. D, E Only
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Question Number : 125 Question Id : 3421234955 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

ST F IO ABI A FLAF0 ®Z- S &% YBJY (ST 24:

A. SRITPIAF TS WAL FIRCT T2 S8, S 2Fol 2 (AT |
B. NG AHAPE AFA-AGGGIGS T AT 5771 p 0e] B SS9 |

C. FATI (571 B9} fon AP

D. %], ST SI%S (ATOINT WREFFTOE WIS G A0 |

E. (N2 NES[ AP GRTYZ Tnieh A |

e MR (F PO IR0 NE) &% (16 Tea—

1. A. B, C Only
2.B, C,D Only
3.A,C,E Only

4. A.D,E Only

Question Number : 126 Question Id : 3421234956 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List II
151 SO HLPIB FAFIG 0 (NI (ST 26:

LIST I LIST II
B, G W SHIhIsTe (M-I e AIF=E oraf .
A 4 8o AfFere =) L | AGUSI GorerR
B |SIgael Riwg TRl 225 TG | 8 I R 0 o S S oS
| *na TS T e 9 s = 11 | 15 G erag (g
D. | S SEF(E Yo FIE0 [Raeel (R4 (AT | IV | IaH! GHSEE (a8

B0 Ol NHT AN [T I ARG AP0 (9P [[APF0 26—

Choose the correct answer from the options given below:

1. A-L B-IL, C-IIL, D-IV

]

. A-IV, B-1, C-II, D-TII
3. A-IL B, C-IIL, D-IV

4. A-III, B-1, C-IV, D-II
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Question Number : 126 Question Id : 3421234956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

Match List I with List II
1< GO N TFIE FAHI0 0T (NIE (ST =4

LISTI LISTIT
ERCE | DR G R R R & | DG RG B | B RS 02 | o
A L | AMGUS GeNId (FFE]
B. |=rgener safNg Taenerar o1fe GG I | T G erEg (3 g
HE WIS F-HII (19 9 HI57 27 | 08 16 R 1O ) S
D. | =M S=F(d YTHEed FE0 Guiaeor (il (g1 | IV | Sa&! Boyerard (3f#er

SO Ol VLT AN [T I ARG (PO (DB [[APF0 26—

Choose the correct answer from the options given below:

1

B

. A-I, B-11, C-III, D-IV

. A-IV, B-1, C-II, D-III

. A-IL B-1, C-II1, D-IV

. A-III, B-1, C-IV, D-II

Question Number : 127 Question Id : 3421234957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT :

PRI BIRAGE (FONBHONYO -4 NIl (A(P [F7Q N\ (M8 =24:

LISTI LIST II
A |y E L | PEoSINR
B. |G (3 Ws | 1L |10 (2
C. |CE® ®Fe 1l |FEsfe
D. |Gad (3% (A1 | IV, | 1e1pe (ofataien

Cw Slielhrd WY AN&EH] [F4W T 2GS (PO (5P [IPFI6 2ed—

Choose the correct answer from the options given below:
1. A-I, B-IV, C-II, D-IIT
2. A-IIT, B-IIL, C-IV, D-1
3. A-1L B-1IV, C-1, D-III

4. A-IV, B-1I, C-III, D-1

Question Number : 127 Question Id : 3421234957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT :

FLHN PRANGE (FONTGIOIYS - A9 NEFAe] (TP (PR B (M8 26

LISTI LIST II
A | Ry s L |FEoSIH
B |GiEd (2@ g | 1L |90 (2N
C. |cxr® == . |FEeie
D. |Gad (5% (AT | IV. | N41P = (A

Cwd OlfelRE ML A& (LN B AN AP (53 [BFI6 2e—

Choose the correct answer from the options given below:

1. A-1, B-1IV, C-11, D-LI

2

- A-IIT, B-11, C-IV, D-1
3. A-IL, B-1V, C-1, D-IIT

4. A-IV, B-11, C-1II, D-1
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Question Number : 128 Question Id : 3421234958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List II :
(YA PI4T (4T W ';T@ﬂi [UR 7{5{32‘31“ (ST 2¢T:

LIST 1 LIST I
IS AT 19 A A [T =T (AT 1 |faerg sisf
=Y AEHD (T SR T W FIEAT 1 |f2a 575f

(T AT (OE 14 (F IR SWiE e L. | 2y sysf
SN WA ST A O ol [ 5% o) 4 foq gamr | v, [gor ssf

Go¥ WifeTRIF NT ST K4 BT A0 S (P (35 B =e1—

Choose the correct answer from the options given below:

olo|w|r

1. A-II, B-1II, C-1IV, D-1

]

. A-1, B-1IV, C-11, D-TIT
3. A-IV, B-1II, C-II, D-I

4. A-II, B-IV, C-IIT, D-1
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Question Number : 128 Question Id : 3421234958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List II ;
(YA PI4T (4T W ';T@ﬂi [UR 7{5{32‘31“ (ST 2¢T:

LIST 1 LIST I
TSATG Y I A [ = (A L Mo
=Y AEHD (S T2 T W FIEAL 1 |*f2a 575f

(T AT (O1E 14 (F IR WiE e L. | 2y sysf
ST WA ST A O ol [ 5% o) 4 foq gamr | v, [gor ssf

olo|w|e

Gl GllelHd T ATNEHT (YN B ANS A(HB© [HF [[FFFI6 2e—

Choose the correct answer from the options given below:
1. A-IL, B-IIIL. C-IV, D-I
2. A-1, B-IV, C-1I, D-IIT
3. A-IV. B-1II, C-I1, D-I

4. A-II, B-IV, C-IIT, D-1

Question Number : 129 Question Id : 3421234959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List T with List IT :
HPIS GANI SIAFA (NG AN S[feTwry BT M A A7 [gory wiferwry
AR LI (RS e -

LISTI LISTII
A [+ STF I, IGHA BIL (RGN STEI I | L |99
g |PIRUE QATEE ORI SIS WA b | o
§ i :
" U YGAIAE (29 (MUIEI fOmB IMeed (3 m: | e
| | T A, (T TS WIS A 25 (1R ' ;
b, | I S G (AN AT | | e
" | (U= G AF AN 2T 1R '

S OffeTdId YT AT ([N P AN A(HO [DF [[FPFI0 2d—

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III

[

. A-IV, B-1I, C-1, D-IIT

3. A-IIL, B-IL C-I, D-IV

4. A-II, B-1II, C-1IV, D-1

Question Number : 129 Question Id : 3421234959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List I :
RRIS GHATT WA (A5 ALY OB I<EY [ AR A2 (3ory wifelmry
ATACHRA YT (RSN 2

LISTI LISTII
A =\ STFT I, IGIRA B (RGN STEI I | L |7
g |PIRUE ITER ORI SIS WA oA | o
J s :
" U YGAIAE (29 (MUIEI fOmB IMesd (3 m | e
| SO A, (57 T SIS N REW (90T : *
b, | (X G TR @A TR TS | [
" | (TR G AF A 2T TR '

S OffeTdId YT AT ([N P AN A(HO [DF [[FPFI0 2d—

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III

[

. A-IV, B-1I, C-1, D-IIT

3. A-IIL, B-IL C-I, D-IV

4. A-II, B-1II, C-1IV, D-1

Question Number : 130 Question Id : 3421234960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT :

fNTET YN SIfeTFrT FLIRIG BT T ABIH A2 (qory OIfeTery Ed AN (e q 2a:
LISTI LISTII
A lTe e e L |5 oI 9Y{] (Nes giod 9"
n |FUTEEI B BOUS GGUe St M 53 | oxifiiy
T
" Eﬁfﬁﬁiﬁmmwmﬁﬁww |y
o ﬁlﬂﬁﬁﬁﬁﬁﬁmwwmﬁ v | o

SO WlfelHId WYY ATV (4N BI WS H(HB@ D [P 2ed—

Choose the correct answer from the options given below:
1. A-I, B-III, C-IV, D-II
2. A-IV. B-1I1, C-1, D-III
3. A-IV. B-1, C-II, D-III

4. AL, BIIL C-1, D-IV

Question Number : 130 Question Id : 3421234960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT :

fNTET YN SIfeTFT FLIRIG BT M AFIH A2 (gory OIfeTery Ed AN (e N 2a:
LISTI LISTII
A Te i L |5 oI 9Y{] (Nes giod 9"
= @Eﬂ%ﬁsmmmmﬁm i |
o Eﬁsﬁﬁmmwmﬁﬁww 1 |y
o mwwmwwmﬁ v | o

OO OlfelHId WYY AT (4N BI NS H(HW D [P 26—

Choose the correct answer from the options given below:

1. A-1, B-1II, C-IV, D-II

f2

. A-IV, B-11, C-1, D-IIT
3. A1V, B-1, C-II, D-II

4. A-II, B-IIL, C-1, D-IV

Question Number : 131 Question Id : 3421234961 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT :

SN A1 NBIPF VL (AP PCABIG (AT NI S BLABI6 oA (S e

LISTI LISTII
Prgaen | 1 [Afo

FEGE | I |[T=eR
TESTTRTH 1L |44l (3%
THTACH I I EABEE

Cw Slielhrd WY AN&EH] [F4W T 2GS (PO (5P [IPFI6 2ed—

Choose the correct answer from the options given below:

olo|w|s

1. A-II. B-1V, C-IIL, D-I
2. A-III, B-1V, C-1, D-II
3. A-1, B-1I, CIII, D-IV

4. A-1, B-III, C-1V, D-II

Question Number : 131 Question Id : 3421234961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List T with List IT ;
- A NG WL (AT FIADI0 (AT WY 8 FIIR06 oA (RSN =

LISTI LISTII
BEELC) 1L [gfom

FEGAE | I |TEmeE
TS HITHH 11 | 441 (WZ
THAT V. |qgfeE

Cwd OlfelRE ML A& (LN B AN AP (53 [BFI6 2e—

Choose the correct answer from the options given below:

olo|w|s

1. A-II, B-1V, C-III, D-1

2

. A-IIT, B-IV, C-1, D-II
3. A-L, B-1I, CIII, D-IV

4. A-1, B-III, C-IV, D-II
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Question Number : 132 Question Id : 3421234962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List II ;
Wﬁaq fﬁ’lﬁsw JF] & WY WN (MS[ 26

LISTI LISTII

Y WIS WA WA WTE WA FOADE ATGAI
A |fEre afsem, wrae = Fgres sre gea A | L | wEE =

AP (AT WS Fg AT 2561 | OYN TIY
B. |STuId WA S LY AT FIA Ao ansemy| | 1L | Toreg=n

A% TS (PR «ld Wiy O (22 (vi4rs
C- | orzamrsr =1, STeTs ATHAITE ST N 25 L | T gouiE

W WA (B8 B (AT, [958 [gs = i
D- | (s ity <16t ey wfevay oo V. | 7o R

Go¥ OlfelBrd N A& Y B ARG AP (55 [FHFI06 20—

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III
2. A-I1, B-1, C-IV, D-IIT
3. A-IV, B-III, C-II, D-1

4. A-I, B-II, C-III, D-1IV

Question Number : 132 Question Id : 3421234962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT :

HINE G (F PLAPO NS S ST W (S 2e:

LIST1 LISTII
Y I WA WA WG A FOAPE ATEAT
A | FETo AT, WINE T [Sgos *1E 226 71 L | Ssg =g
AEA (AT WS FT AP 2561 | O S
B. |®TNIE =g U LY AT BN Ao anfse | L | Joeaa
A% AT ST 2d Wiy 1 [$8% (A4re
C- | orzemrs =1, STweis ATHAITE SHFTR NN 25| I | T goYfE
D | T WA (BB B (e, g [FRR A e
" | o =ty UG SOy BfeT (o) ' '

Gy GllelHd T ATV (YN B ANS AA(HB@ [HF [[FFFI6 2e—

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III

I

.A-II, B-I, C-IV, D-IIT

3. A-IV, B-III, C-II, D-1

4. A-I, B-II, C-IIL, D-1IV

Question Number : 133 Question Id : 3421234963 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match List I with List II :
dITNH"d iﬂtaﬁm Adsh (AP ﬁ?ﬁ WEGT 48 AGUhd T3 (ST 26

LISTI LIST II
TR AT W AW RS 1 A, OF 09 _
A | e o T, SR R O L | SoePo
& %ﬁ?ﬂaﬁﬁsm@ﬁaﬂww&aﬁw Tif ——
M2¥ TE(O [WF0g 29I, Ol o 906 7|
© |G g, (e G Gl . |Grfes
4% 95 e TN RS9, HY A=A FEW | =
= T TGE WA= ATTE 250 RIGIEAR| | SrE

SO WlfelHId WYY ATV (4N BI WS H(HB@ D [P 2ed—

Choose the correct answer from the options given below:
1. A-IL, B-1V, C-I, D-III
2. A-1, B-1V, C-II, D-IIT
3. A1l B-1, C-IV, D-III

4. A-IV, B-1I1, C-1I1, D-1

Question Number : 133 Question Id : 3421234963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List II :
dITNH"d iﬂtaﬁm Adsh (AP ﬁ?ﬁ WEGT 48 AGUhd T3 (ST 26

LISTI LIST II
TR AT W AW RS 1 A, OF 09 _
A | e o T, SR R O L | SoePo
& %ﬁ?ﬂaﬁﬁsm@ﬁaﬂww&aﬁw Tif ——
M2¥ TE(O [WF0g 29I, Ol o 906 7|
© |G g, (e G Gl . |Grfes
4% 95 e TN RS9, HY A=A FEW | =
= T TGE WA= ATTE 250 RIGIEAR| | SrE

SO WlfelHId WYY ATV (4N BI WS H(HB@ D [P 2ed—

Choose the correct answer from the options given below:
1. A-IL, B-1V, C-I, D-III
2. A-1, B-1V, C-II, D-IIT
3. A1l B-1, C-IV, D-III

4. A-IV, B-1I1, C-1I1, D-1

Question Number : 134 Question Id : 3421234964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List T with List IT :
TUANIIG" 5% SFEAFA AN SITH FABIC BT A2 301y Sl sy
ARSI LT (R3] =T

LISTI LISTII
A |G TN, TG PO, 92 MIFTE WS (ROIGT | 1 |32 e #ifH=n

AEGIATE (Q6S Ol FIE TG, T[S B FY
5 t = ' II. o
(TG AP O PR AF| A5 HIEE 5T 71| v8 Wg “Afgteen

PR ERCTINE N R AR 1L |S¢ W AAHoEn
D. |¥[E o4 [9e15o, =g GrFiad 13 1o | V. |y Jg SRR

Cw¥ Wlfelhrd WK A& Y B ARG A (B (33 [[FHFI06 2ed—

Choose the correct answer from the options given below:
1. A-IV. B-1, C-1I, D-III
2. A-I, B-III, C-IV, D-II
3. Al B-IIL, C-1, D-IV

4. A-IV, B-1II, C-III, D-1

Question Number : 134 Question Id : 3421234964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List T with List IT :
TUANIIG" 5% SFEAFA AN SITH FABIC BT A2 301y Sl sy
ARSI LT (R3] =T

LISTI LISTII
A |G TN, TG PO, 92 MIFTE WS (ROIGT | 1 |32 e #ifH=n

AEGIATE (Q6S Ol FIE TG, T[S B FY
5 t = ' II. o
(TG AP O PR AF| A5 HIEE 5T 71| v8 Wg “Afgteen

PR ERCTINE N R AR 1L |S¢ W AAHoEn
D. |¥[E o4 [9e15o, =g GrFiad 13 1o | V. |y Jg SRR

Cw¥ Wlfelhrd WK A& Y B ARG A (B (33 [[FHFI06 2ed—

Choose the correct answer from the options given below:
1. A-IV. B-1, C-1I, D-III
2. A-I, B-III, C-IV, D-II
3. Al B-IIL, C-1, D-IV

4. A-IV, B-1II, C-III, D-1

Question Number : 135 Question Id : 3421234965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List II :
QG0 PRI DT« AYY U GERREIENIE ‘?‘f@ng} & I%\ﬂm NIGEREENRRIR

(M3 2¢<T:
LISTI LISTII
A |INETIIEEA | I [T
B. | SATSe T WiYE I (=g
ol I e 2 C s s A o e e 1
D. | anfre e fueg | v, | o (&=

Swy OIfeTEE N & (R4 BE 2A0S TP 3P [P0 T

Choose the correct answer from the options given below:

1. A-I1, B-1, C-III, D-IV

B

- A-IIL B-11, C-1IV, D-1

3. A-L, B-II, C-IV, D-III

+=

. A-II, B-IV, C-I, D-IIT

Question Number : 135 Question Id : 3421234965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List II :
QG0 PRI DT« AYY U GERREIENIE ‘?‘f@ng} & |€i\ﬂ|ﬂ. NIGEREENRRIR

(M3 2¢<T:
LISTI LISTII
A |INETIIEEA | I [T
B. | SATSe T WiYE I (=g
ol I e 2 C s s A o e e 1
D. | anfre e fueg | v, | o (&=

Swy OIfeTEE N & (R4 BE 2A0S TP 3P [P0 T

Choose the correct answer from the options given below:

1. A-I1, B-1, C-III, D-IV

B

- A-IIL B-11, C-1IV, D-1

3. A-L, B-II, C-IV, D-III

=

. A-II, B-IV, C-I, D-IIT
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Question Number : 136 Question Id : 3421234966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List T with List IT ;
fTE IO TALHIIT GAIRAT & ORI NN (RS 2e7-

LIST I LIST II
A | (9 2 GEFE T & WH L | sfe
B |#GR (YA 3G SO (W S | I | Sresr=r
Sion! BLaAlE WSS I | S ™=
CTHIE =TS (A1 P (& P i
D. ) ' : IV. | opStEsma
WA RIS L

B0 Ol VLT AN [T I ARG (PO (D [[IPF0 26—

Choose the correct answer from the options given below:

1. A-II, B-1, C-IV, D-III

B

- A-IIL B-11, C-1IV, D-1
3. AL B-1V, C-1, D-IIT

4. A-1, B-III, C-II, D-IV

Question Number : 136 Question Id : 3421234966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List II :
V(G SCIHIG SALHIET SAIRAT & OIHd NN (RS 26-

LISTI LISTII
| e = GEwe 3 @ W L | St
B |FGTE (LE4= 931G SIH0T (I WA | 1L | Frarerm
C. =G breltg Wifesa I | St+=
CTTE 20O TG B (F FF i
D. ] ; : V. | srStra
AP AR

B0 OIfelRF VYT AN [N I ARG A (PO (DB ([P0 2ed—

Choose the correct answer from the options given below:
1. A-II, B-1, C-IV, D-IIT
2. A-TIL, B-IL, C-TV, D-I
3. A-IL B-1V, C-1, D-III

4. A-1, B-1II, C-II, D-1IV
Question Number : 137 Question Id : 3421234967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List T with List IT :
TG /A4 Blwd PoRfed FAEBIad NN 8 Ohd NGi9eiG (K33 26

LIST I LIST II
A |[OFF E I |a+a
B. |ty I |+t
C. |omremt 111 | 8+8+
D. |Riderarg IV. |8+8+8+3

Go SlfelRrd WY AN&H] {4 F(F A0S (PO (5P [FPHI6 ed—

Choose the correct answer from the options given below:
1. A-IIT, B-IV, C-I, D-IT
2. A-IIT, B-1, C-I1, D-IV
3. A-IL B-IV, C-II1, D-I
4, A-II, B-IIL, C-IV, D-I
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Question Number : 137 Question Id : 3421234967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT :

TG *Id Bl o9 FAEHIad AN 8 Ohd NG9eiG (33 26

LISTI LIST II
A 99T AHE L |a+4
B. | ety I |ttt
C. | oMl 111 [8+8+y
D. |RiEeraa IV. |8+8+8+%

S0 OIfelHF NHT ATNEHT (G4 I A0S AP0 (DB [[IBPF0 26—

Choose the correct answer from the options given below:

1. A-III, B-IV, C-1, D-II

]

. A-IIl, B-1, C-1II, D-IV

3. A-IL B-IV, C-II1, D-1

4. A-11, B-1II, C-1V, D-1

Question Number : 138 Question Id : 3421234968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List II :
fATE SIS0 WAPII W 8 ORI GBS (RS =eT:

LISTI LIST II
sNEeanre | 1 | @3 -t 41 907 51+ 512

A

B. |sonfe I | (e S Bl 990 Mifsrg
C. |weEfe 1L | ST 9 (*Id
DGR A IR EENEED|
Tfermt

D. |e% 5F IV.

oY SIfBPIR WT STNES ([U B AN HPo 56 [P0 21—

Choose the correct answer from the options given below:
1. A-1, B-II, C-IV, D-III
2. A-I, B-IV, C-IT, D-IIT
3. A-IIL B-TIV, C-1, D-II

4. A-III, B-1, C-II, D-1IV
Question Number : 138 Question Id : 3421234968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List II :
[N IR0 WALHIEI VY & OHd E@I@ CH&ET 26

LISTI LISTII
AmEeae | L |fEIr ofs-l a9 909 5= iR

ST I | (o1 W= BT 930S Mifsrg
A L. | S N (T

. | sIfwe s Wity Sasrawen
D. |Sow (=% v &%ﬂﬁi

Bo¥ WifeTRId WYY ST T4 BT 0@ S (P (35 (B0 26—

Choose the correct answer from the options given below:
1. A-1, B-II, C-IV, D-III
2. A-L B-1IV, C-I1, D-IIT
3. A-IIL, B-TIV, C-I, D-II
4. A-IIT, B-1, C-11, D-IV
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Question Number : 139 Question Id : 3421234969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List II ;
DR SN AN oIl [Afoq 079 21 & [fvn 957 Sngw 2879 BE9T GlEY
ELIEGE

LISTI LISTII
A |Feewaw 1 |fermomay i
B. |ovmaaw | I [TewN
C. |FETaA L. |fray ameng wefs
D. [Wqgedd | IV |=fEm s vl

S0 Ol WL AN U FF A0S HTH0 [HF [SF06 20—

Choose the correct answer from the options given below:

1. A-IV, B-11, C-1, D-III

B

. A-II, B-1, C-IV, D-III

3. A-I, B-II, C-IV, D-III

4. A-IV, B-111, C-1, D-II

Question Number : 139 Question Id : 3421234969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT :

DR S AN OlfelHry [{foq 079 AN & [Rfvn 957 Srgw 28T BT GEY

<Pdl 2eT:
LISTI LISTII
A |Fesia L |fEromay we
B |ovme ™ | I |[TewH
C. |F®aE 1. | fray ameng wefs
D. |[smgo | IV. [wfem ssgawsiw

Swy OIfeTEE N & (R4 BE 2A0S TP 3P [P0 T

g28.digialm.com/CAE/viewHtmIPDFAction.action

Choose the correct answer from the options given below:

|

]

Question Number : 140 Question Id : 3421234970 Question Type : MCQ Option Shuffling : No

ATV, B-II, C-I, D-TII

. A-IL B-1, C-IV, D-III

. A-I, B-11, C-IV, D-III

. A-IV, B-1I1, C-1, D-II

Correct Marks : 2 Wrong Marks : 0
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Match List I with List II :
OO FRTOIST [Rf9H AT AW 8 AT A[HUHERA [[FOE WY Gl 1
EGE

Lo

Swy OIfeTEE N & (R4 BE 2A0S TP 3P [P0 T

g28.digialm.com/CAE/viewHtmIPDFAction.action

LIST I LIST I
A |WIGTY I |G
B. | FHETEPISIGgG: | I [STHITS
C. |qFie Gike I | S7ETT
D. |$RNIEAR V. |=fgsa

Choose the correct answer from the options given below:

|

B

Question Number : 140 Question Id : 3421234970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- A-I, B-11, C-IV, D-III

- A-IIL B-11, C-1IV, D-1

. A-II, B-1I1, C-1, D-IV

. A-IIL B-1IV, C-1, D-1II
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Match List I with List IT :

g28.digialm.com/CAE/viewHtmIPDFAction.action

26
LIST I LIST I
A |WIGTY I |G
B. | FHETEPISIGgG: | I [STHITS
C. |fe-Gike 1L |0
D. |$RNIEAR V. |=fgsa

ATHIN SOOI FRTOISd {9 ATTI AW 8 AT [N [FO0E WY Gl 1

Swy OIfeTEE N & (R4 BE 2A0S TP 3P [P0 T

Choose the correct answer from the options given below:

1. A-1, B-II, C-1IV, D-III

B

- A-IIL B-11, C-1IV, D-1
3. A1l B-IIL C-I, D-IV

4. A-III, B-1V, C-1, D-II

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

2
342123199
No

Question Id : 3421234971 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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TG BB T (RIS 2el, AITI0! ARSI A2 I WITH (N bed PACO 24|

AT AGgA (19 M (ATF IATHEE =1 Titd T Ae9agol A1 | O G4
JE OTH-TARETING ST 1S 8 S RIFFIT (AR | Aoy fdPod
SHAE TR0 8 e Temsifored FNEE Bd WAPGES, ©le (9
FIAAT ARTE N WR*TE O SN FLAN | TTRTAE, T O 23l ST
RS NHAET O FATAN WF G Soor (N (89 Fa%e|
AP I Yool (T AGIfA O IR A1 MT® Frog 20| ©f I 2@ ©F Y
JATA*E TP FACO PIANA-HNSFE T IRED BT A91S Al O A
SAIBA PACE SOAP 98] HAl A (T ORI VH-OF-FSIANT W=
TS AT (B N e A1 | N2AIH[ARE (TUN GRKADS T NFNY=
(I2EEE o) (T @ 2@ o ({749 1 92 S5 A1 {39 [z o= 8
VF*ed OHF o (@Y 23 B Nodohisy| QFendd OAd [ (TR
JGHEIGAS (T FO0I {h 26 OF AFE] (7=« PR CTHIET A6 DUBIS 110
I3 (AR | oA M BEME (AF N 7oy ow F F835 oF S50 32000
SNRAF Y (U ||

Sub questions

Question Number : 141 Question Id : 3421234972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR G TTA 0T Gl (1R ERIGEEIGRET .

1. AUIMOT® e omerd SaFe

2. WIiEreiiod ARIE HE]
3. WIETeo® VAT OAT FUTZ AT L]
4. (LT RN

Question Number : 142 Question Id : 3421234973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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NRPIHRARE *3T wL =eT—
L. ARGl
2. TR NZAST
3. AW S9]

4. 4] dIGhe

Question Number : 143 Question Id : 3421234974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A NS S5 (AT FIISFI6 ) TH6R B B (WG (RS =e:

A. CTFI(E Vg OF FSTHNG N2 I AT (50 W e 1|

B. NG IeEFod] SICEE Lol 8 911000 sro5iomer FF-[ F
SR |

C. *FeFE 0T I 5RMS (AT N0 WIOR ©4A (& F937 57 40T 2600
IO EEEPRERI A (8]

D. N3 AATHHTE S GHIE FACO PN &P 7% IRIF G 197 |

E. ST 1 [N {102 =P & NEied GoF Ol (04 AR 2 (Noq201s |

NG H(H(O WGP D [IBPHIG 2ed—

1.B,D.A.E, COnly
2.B,D,C, A E Only
3.A.B.,D.E, C Only

4. A.D,C,E.B Only

Question Number : 144 Question Id : 3421234975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AL NG S BH DTN BP0 WS ® BT (S 2e:

A. I[N FCFCA AT fHT® FMoF 29|

B. IHIATAE WG HOF] BEAIR] FO-IM0F AHION B |
C. T CTA-TR AN ST T3 Grrs 2K |

D. AGIfe] NP AR e 2318, w51l fgel WFg=ife (o |

E. NI {IRE e /abred SEgwral|

MG PO (T [PFGTO TIHI6 UBT S (56 =el—

1. A, B, C Only

[

.C, D, E Only
3.B, D, E Only

4. A. D, E Only

Question Number : 145 Question Id : 3421234976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A ANS SLERA DTN PP S-S ®; TBFJ (S 2eT:

A. O HIE J18Ife] AT SRS Hwl< f2e TEI

B. (114 AP AR O [T A4S AA |

C. ‘CNRf&F *Hg W = ([0 559

D. 9FO[(HF Gl AR 711 I2(S |

E. 1S d M2l GG (P G TN e BLF (Felme |

NS HHO (T [[FPFHLO AIPI6 VBT & (6 2ed—

1.A, C,.D Only

f-2

.B, D, E Only
3. A, B.C Only

4. A, B. D Oaly

Question Id : 3421234971 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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TG BB T (RIS 2el, AITI0! ARSI A2 I WITH (N bed PACO 24|

AT AGgA (19 M (ATF IATHEE =1 Titd T Ae9agol A1 | O G4
JE OTH-TARETING ST 1S 8 S RIFFIT (AR | Aoy fdPod
SHAE TR0 8 e Temsifored FNEE Bd WAPGES, ©le (9
FIAAT ARTE N WR*TE O SN FLAN | TTRTAE, T O 23l ST
RS NHAET O FATAN WF G Soor (N (89 Fa%e|
AP I Yool (T AGIfA O IR A1 MT® Frog 20| ©f I 2@ ©F Y
JATA*E TP FACO PIANA-HNSFE T IRED BT A91S Al O A
SAIBA PACE SOAP 98] HAl A (T ORI VH-OF-FSIANT W=
TS AT (B N e A1 | N2AIH[ARE (TUN GRKADS T NFNY=
(I2EEE o) (T @ 2@ o ({749 1 92 S5 A1 {39 [z o= 8
VF*ed OHF o (@Y 23 B Nodohisy| QFendd OAd [ (TR
JGHEIGAS (T FO0I {h 26 OF AFE] (7=« PR CTHIET A6 DUBIS 110
I3 (AR | oA M BEME (AF N 7oy ow F F835 oF S50 32000
SNRAF Y (U ||

Sub questions

Question Number : 141 Question Id : 3421234972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR G TTA 0T Gl (1R ERIGEEIGRET .

1. AUIMOT® e omerd SaFe

2. WIiEreiiod ARIE HE]
3. WIETeo® VAT OAT FUTZ AT L]
4. (LT RN

Question Number : 142 Question Id : 3421234973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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NRPIHRARE * 3T WL =T
L. ANl
2. TR NZAST
3. AW S9]

4. 4] dIGhe

Question Number : 143 Question Id : 3421234974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A NS S5 (AT FIIFI6 ) T6R 5 B (WG (RS =e:

A. (TP Vg 97 FBTHNG N2y I ATHT~Id (BUy S et =1

B. MIHICGTE IAMGFOFN SICHH Ta90TH 8 900 FosiioFerz FIbE Bl
SR |

C. *FeFE 0T I 5RMS (ATH N0 WO ©4A (G F937 57 40T 2000
S(NFAP Y [ 0T |

D. STN3] AFATHHTE GP[E FACS IATA *I G 7 IR O 197 1|

E. SPTY 1 [ (G102 =Py & Naie-d GoF Ol (F04 AR Qe [Noq20ys|

NS H(HLO WGP D [IBPHIG 2ed—

1.B,D.A.E, COnly
2.B,D,C, A E Only
3.A.B.,D.E, C Only

4. A, D, C,E. B Only

Question Number : 144 Question Id : 3421234975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AL ANG S(5H DTN BP0 WS ® BT (S 2e:

A. I[N FCFCA AT HT® FMoF 29|

B. IHIATAE WG H O] BEAIR] FOIT0F A9 B |
C. T CTA-TR AN ST T3 Grrs 2K |

D. AGIfe] TIPS AR 2 2318, w51l fgel W=t (o |

E. T=MIG{RaRS e g dbred SIfgsel|

M@ RO (T [PFGro JIPI0 NS S (516 21—

1. A, B, C Only

[

.C, D, E Only
3.B, D, E Only

4. A. D, E Only

Question Number : 145 Question Id : 3421234976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A ANS SLERA DTN PP S-S ®; TBFJ (S 2eT:

A. O HIE J18Ife] AT SRS Hwl< f2e TEI

B. (114 AP AR O [T A4S AA |

C. ‘CNRf&F *Hg W = ([0 559

D. 9FO[(HF Gl AR 711 I2(S |

E. 1S d M2l GG (P G TN e BLF (Felme |

NS HHO (T [[FPFHLO AIPI6 VBT & (6 2ed—

1.A, C,.D Only

f-2

.B, D, E Only
3. A, B.C Only

4. A, B. D Oaly

Sub-Section Number : 3
Sub-Section Id : 342123200
Question Shuffling Allowed : No

Question Id : 3421234977 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix
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Question Numbers : (146 to 150)
Question Label : Comprehension

TG AF0T WIS (RSTT 26, HFI0! AT A2 T SIAH(N 08 d PALO 24|

(AN GOod W[ SIAGA FI A6 AE OF FA0H (Ao 14 AP
250, (@NH BT A (7 TORE APE (R WPIRe | A (BIed A= a6y
*OIFd #g, IP *10F I O WPE P T2NTO AYN WIKHE FAE | S0
R FEA [RIOF 0o A0 [0, &% NS 1, &% [RErs W AIBHS
SR IR PERA | N9 (BI04 YT VI Moy 8 VN N2ed (MI—42
NA[PO! YNNI W AP Barg|

FANONI TARFOE AL O *g WES FE- T4 ©Fd @1 | TS
SO SO W) (RS (M1 TS 96 96 O (TN GENE (P, [, ey
(GAAIHT P12 AT, NISTI BB© (SRS, YOG Blef N Y| (HEE
WM i g waAfTe 209 NfhS Gifed ke OTE(E Tord (O (63 Fa.
HFY- AP S (FE (GIATRA | ALMAZ TRV V=G, 224! [N (T FIE O F
WA TN ARYA |

Sub questions

Question Number : 146 Question Id : 3421234978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List I :
GATANS SI(RN (AP PIARGH *g] dd2 (M 1Y (ST =26

LIST I LIST 1T
PeAfEy | L |G
EIGIE I | o

-

(ot il AL
PR AN | IV, |

Gw SlielRrd WY AN&H] [[4 F(F A0S (PO (5P [IPFI6 2ed—

Choose the correct answer from the options given below:

olo|w|s

1. A-IIT, B-1, C-IV, D-II

I

. A-IIL, B-III, C-1, D-IV

3. AL B-IV, C-III. D-II

4. A-1, B-II, C-III, D-IV

Question Number : 147 Question Id : 3421234979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AfEF Tifod (3 (MRS O Oy 4919 (68 A [N~ fofd Zeaa—
EIEGIGISE

[

whe

3. (dIn]

42 -

Question Number : 148 Question Id : 3421234980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

O VOO NN ARO[ AL WEE B (4 [ofN 2Eaa—

1. (PIeIl4

P12 AN

[

3. BB fWIEArS

e

4. (4]

Question Number : 149 Question Id : 3421234981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A NS S BRA DTN PLIBI0 WS @ ST (S 2e:

A. Y[ ORI FFl [0 [Rion Lo Fega s A-[os|

B. WIYWF 2O 1 {aP10 (MUY (@ 5% A |

C. 2z Aod Tz T GINiag 1= [ (FEEd Hg |

D. WINF TOEMAT Rl o3y MR 9 *[od Ha3e! (5E|
E. W1~ 2GIEIAT Frghal REmmad SIS $q0e AE- |

MG (PO (T [PFGro HIPI0 B &% (576 26—

1. A, E Only

(]

. B, D Only
3.B.E Only

4. A, C Only
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Question Number : 150 Question Id : 3421234982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A ANG SN TN PP S-S ®9% TBQ) (S 2eT:

A. SIYNF SOEMA Fg] Sy MRy &g 51|

B. W~ ZGEIA gl &% 36 a9, Rora Wik s es WiE[ Sa-|
C. WIY[VF ZGAI I *10F AIFo] 1 AT AAW|

D. GENI (BT AP T-HPMOP T2 (FN&T Yforo |

E. BIE N0 Qe 980T #151

NS HHO (T [[FPFHGO AIPI6 VBT 7 (6 2ed—

1. B, D Only

]

. A, C Only
3. C, E Only

4. B. E Only

Question Id : 3421234977 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

TG IB0I AT (RSN 26, A 0! FEBTA] J2 T SITF (N b6 d $ACS 24|

@ GOed W[ GG Fd A6 AAE ©OF FAH (AT 4 HYHF
LA, (RINH BN A (3 TORE APIE (R WPIEReT | N9 (B0 S8 a6y
OB g, I *OF I O/ WIRPE FEd N2AINS] 2N WIGHE FAE | S0
HJAFIEAF FEF [RIoF o 0w [0, &% S 11, &% [Rorsy W AH S
S WK PERA | N9 (GI0Y (YT W Hfog 8 TN V2eld (MU—42
VSOl [N S S0 Do SEg|

[ B O (5 ) B B 0 | S T S [ 0 5 A [ B s b M) e B L R (3
U7 S0 ST CRUTS (M AT 96 96 O (TN GENI=e (e, ], Iy
(GNNTHT FI2 VA, NI BB (SIS, Y206 Bl (N AL | (A
Wi Jie g Sefae =01 wfbe Gifog ks CTE(F Soe (OFE 68 Fd,
HF 2P S (FNE (LA | AUAR GV V=g, 224! [N (T FF O
WA AR |

Sub questions

Question Number : 146 Question Id : 3421234978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List I :
GATANS SI(RN (A(PH PIARGH *] d92 (M 1Y (M =26

LISTI LIST I
FefEy | L |G
EIGIE I | o

-

(ot il R AL
PR | IV. |

ola|w|s

Cw SlielRrd WY AN [F4 T A0S H(HO (5P [IBPFI6 20—

Choose the correct answer from the options given below:
1. A-IIT, B-I, C-IV, D-II
2. A-IL B-III, C-1, D-IV
3. AL, B-IV, C-II1, D-II

4. A-1, B-1I, C-III, D-IV

Question Number : 147 Question Id : 3421234979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT Gfeod (Y (MR OIS Oy 4919 (68 B ¥~ fofd Zeaa—
EIEGIGISE

. (PIeld

-2

by

3. (4]

‘-;E -

Question Number : 148 Question Id : 3421234980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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O Nowd NN[EPO TN WEE Ha- [+ fofd 2eaa—

1. (PEIE
P12 AN

f-2

3. W@ [WIITARS

whe

4. (dH]

Question Number : 149 Question Id : 3421234981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A ANS SLERA WETHN PLIBI0 S-S ®7; W) (S 2eT:

A. SY[F ZOEIAT Fl {1 [fon Yo Fige s Aibee|
B. SI§[~<F 2GIEMA g fasiis (M (G- Bl A |

c. 227! fNfrota Faz gty G W=y (e @ # |
D. WIYNF @A PR $Fg MERE 9 *rod Ha3e! (aF|
E. WY 2GRN P fRRsmiad Srf(s 4900 AEN|

NS HHO (T [[FPFHLO AIPI6 VBT & (6 2ed—

1. A, E Oanly

f-2

. B. D Only
3.B.E Only

4. A. C Only

Question Number : 150 Question Id : 3421234982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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H 2NG SRR ST FLAP0 &8-S @G TSI (3T 26:

A, SIYNE 2O gl @3y MrIres &4 o |

B. WY 2OAIAY Mgl @ fae 93, R wd Hf4sree Wifasd SEa|
C. WA TR TP *[0F 0! RIS 0O A

D. BN (FIA “FI-APMO(B QLA (@& oo |

E. P12 0 [Rle~ 493031 #g1 |

MG PO (T [PFOTO FIBI6 BT & (576 =el—

1. B, D Only

[

. A, C Only
3.C, EOnly

4. B, E Only
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